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Grade C Stenographer Limited Departmental Competitive
Examination 2023 and 2024

Roll Number

Candidate
Name

Venue Name
Exam Date 09/05/2024
Exam Time 9:00 AM - 11:00 AM

. Grade C Stenographers LDC Examination 2023 and
Subject 2024

Section : General Awareness WWW . exa m m IX . CO m

Q.1 Which of these is called Milk of magnesia?
Ans X 1. Magnesium nitrite

#5 2. Magnesium sulphide
«” 3. Magnesium hydroxide

#5 4. Magnesium oxide

Question ID : 264330193158
Option 1 ID : 264330755745
Option 2 ID : 264330755744
Option 3 ID : 264330755742
Option 4 ID : 264330755743
Status : Marked For Review
Chosen Option : 4

Q.2 Which of the following agencies looks after the construction and management of
Golden Quadrilateral Super Highways?

Ans X 1. Border Roads Organisation (BRO)
£ 2. Public Works Department (PWD)
«” 3. National Highway Authority of India (NHAI)
25 4. Central Public Works Department (CPWD)

Question ID : 264330179000
Option 1 ID : 264330702004
Option 2 ID : 264330702005
Option 3 ID : 264330702003
Option 4 ID : 264330702006
Status : Answered
Chosen Option : 3
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Q.3 Which of these is NOT a function of Input devices?

readable form.

#< 2. They accept data and instructions from the user.

«” 3. They supply the converted results to the user.

Ans X 1. They convert these instructions and data from human readable form to machine

£ 4. They supply the converted instructions and data to the CPU for further processing.

Chosen Option :

Question ID : 264330193181
Option 1 ID : 264330755834
Option 2 ID : 264330755836
Option 3 ID : 264330755835
Option 4 ID : 264330755837
Status : Answered
Chosen Option : 3
Q.4 Which of the following is an example of Computer software?
Ans X 1. storage devices
«” 2. Notepad
< 3. asystem unit
5 4. communication devices
Question ID : 264330193220
Option 1 ID : 264330755991
Option 2 ID : 264330755993
Option 3 ID : 264330755990
Option 4 ID : 264330755992
Status : Answered
Chosen Option : 2
Q.5 ‘Sach Kahun Toh : An Autobiography’ is about the extraordinary personal and
professional journey of actress
Ans X 1. Deepti Naval
5 2. Seema Pahwa
«” 3. Neena Gupta
£5 4. Shabana Azmi
Question ID : 264330113197
Option 1 ID : 264330444874
Option 2 ID : 264330444876
Option 3 ID : 264330444875
Option 4 ID : 264330444873
Status : Marked For Review

3
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Q.6 From which Harappan site was the famous bronze dancing girl statue found?
Ans X 1.Rakhigarhi

«” 2. Mohenjo-daro
Z5 3. Dholavira
#< 4. Chanhudaro

Question ID :
Option 11D :
Option 2 ID :

Option 3 ID

Status

264330179697
264330704782
264330704780

1264330704781
Option 4 ID :

264330704779

: Answered
Chosen Option :

1

Q.7 Which of the following is NOT a part of capital receipt?
Ans X 1. Disinvestment of government entity
«” 2. Revenue on taxes

25 3. Sale of shares of PSUs

5 4. Recovery of the loans

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330131562
264330515352
264330515354
264330515351
264330515353

Marked For Review

2

Bill 2023 for consideration and passing in the Lok Sabha on 26 July 2023?

Ans X 1.Hardeep Singh Puri
5% 2. Narayan Tatu Rane
«” 3. Prahlad Joshi

5 4. Sarbananda Sonowal

Q.8 Who introduced the Mines and Minerals (Development and Regulation) Amendment

Question ID :
Option 11D :

Option 2 ID :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

264330173922
264330682146
264330682145

1264330682143

264330682144
Answered
3
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Ans X 1. Bat

Q.9 Which of these animals can stay both inside the pond water as well as move on land?

#5 2. Fish
5 3. Elephant
« 4. Frog
Question ID : 264330193173
Option 1 ID : 264330755804
Option 2 ID : 264330755802
Option 3 ID : 264330755805
Option 4 ID : 264330755803
Status : Marked For Review
Chosen Option : 4
Q.10 In which year was the first Census of India conducted?
Ans X 1.1941
X 2.1901
o 3.1872
X 4.1951
Question ID : 264330179545
Option 1 ID : 264330704179
Option 2 ID : 264330704182
Option 3 ID : 264330704181
Option 4 ID : 264330704180
Status : Answered
Chosen Option : 3
Q.11 In which of the following is each carbon atom bonded to three other carbon atoms in
the same plane giving a hexagonal array?
Ans X 1. Methane
£5 2. Diamond
< 3. Ethane
o 4. Graphite
Question ID : 264330179725
Option 1 ID : 264330704893
Option 2 ID : 264330704892
Option 3 ID : 264330704894
Option 4 ID : 264330704891
Status : Answered

Chosen Option : 2
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Q.12 The degree of convergence or divergence of light rays achieved by a lens is expressed
in terms of its

Ans X 1. Momentum
25 2. Speed
«” 3. Power
5 4. Energy
Question ID : 264330193186
Option 1 ID : 264330755857
Option 2 ID : 264330755855
Option 3 ID : 264330755856
Option 4 ID : 264330755854
Status : Answered
Chosen Option : 1
Q.13 Which of the following software are CORRECTLY defined?
A.Spreadsheet software allows users to organize data in rows and columns and
perform calculations
B.Accounting software allows users to create visual aids for presentations to
communicate ideas, messages, and other information to a group
C.A software suite is a collection of individual programs available together as a unit.
D.Presentation software helps companies record and report their financial
transactions
Ans X 1. Only Aand D
o 2. OnlyAand C
& 3. OnlyB
5 4. OnlyCandD
Question ID : 264330193182
Option 1 ID : 264330755839
Option 2 ID : 264330755841
Option 3 ID : 264330755838
Option 4 ID : 264330755840
Status : Answered
Chosen Option : 2
Q.14 Calcium oxide reacts vigorously with water to produce slaked lime (calcium
hydroxide) releasing a large amount of heat is an example of
Ans ¢ 1. Combination reaction
#5 2. Decomposition reaction
#5 3. Recombination reaction
5 4. Displacement reaction
Question ID : 264330193156
Option 1 ID : 264330755734
Option 2 ID : 264330755736
Option 3 ID : 264330755735
Option 4 ID : 264330755737
Status : Answered
Chosen Option : 2
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Q.15 Arrange the following events of photosynthesis in order of their occurrence:

hydrogen and oxygen.
B.Reduction of carbon dioxide to carbohydrates.
C.Absorption of light energy by chlorophyll.

A.Conversion of light energy to chemical energy and splitting of water molecules into

Ans X 1.B,A C
K 2.A,C,B
& 3.A,B,C
« 4.C,AB
Question ID : 264330193164
Option 1 ID : 264330755767
Option 2 ID : 264330755768
Option 3 ID : 264330755766
Option 4 ID : 264330755769
Status : Answered
Chosen Option : 4
Q.16 Which of the following is NOT correctly matched?
Ans X 1. Equisetum — Homosporous
#< 2. Cycas — Dioecious
o 3. Pinus — Dioecious
25 4. Salvinia — Heterosporous
Question ID : 264330120913
Option 1 ID : 264330473869
Option 2 ID : 264330473870
Option 3 ID : 264330473867
Option 4 ID : 264330473868
Status : Answered
Chosen Option : 4
Q.17 With reference to industrial development in India, what does NALCO stand for?
Ans X 1. National Alloy Company Limited
5 2. National Antimony Company Limited
#< 3. National Allied Company Limited
«” 4. National Aluminium Company Limited
Question ID : 264330178997
Option 1 ID : 264330701992
Option 2 ID : 264330701993
Option 3 ID : 264330701994
Option 4 ID : 264330701991
Status : Answered
Chosen Option : 4

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Q.18 ‘Anything But Khamosh’is the biography of Bollywood actor
Ans X 1.Sanjay Dutt

«” 2. Shatrughan Sinha
25 3. Anil Kapoor
25 4. Rishi Kapoor

Question ID : 264330113196
Option 1 ID : 264330444871
Option 2 ID : 264330444870
Option 3 ID : 264330444872
Option 4 ID : 264330444869
Status : Answered
Chosen Option : 2

Q.19 Who among the following was mainly involved in the establishment of the Hindustan
Socialist Republican Association?

Ans X 1. Madan Lal Dhingra
«” 2. Bhagat Singh
5 3. Khudiram Bose
#< 4. Ras Bihari Bose

Question ID : 264330180350
Option 1 ID : 264330707368
Option 2 ID : 264330707370
Option 3 ID : 264330707367
Option 4 ID : 264330707369
Status : Marked For Review
Chosen Option : 3

Q.20 Which of the following states produces the largest share of iron ore in India?
Ans X 1.Karnataka

5 2. Maharashtra
3. Odisha
5 4. Madhya Pradesh

Question ID :

Option 11D :
Option 2 ID :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

264330179532
264330704129
264330704130

1 264330704128

264330704127
Answered
1
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Q.21 Disinvestment commission, announced in 1996, was initially set up for how many
years?

Ans X 1.1
X 27
X 3.5
& 4.3

Question ID : 264330141507
Option 1 ID : 264330554363
Option 2 ID : 264330554366
Option 3 ID : 264330554365
Option 4 ID : 264330554364
Status : Answered
Chosen Option : 3

Q.22 Identify the correct match of acid with its natural source.
Ans ¢ 1. Oxalic acid-Tomato

< 2. Lactic acid-Lemon
£% 3. Tartaric acid-Orange
25 4. Citric acid-Vinegar

Question ID : 264330193200
Option 1 ID : 264330755911
Option 2 ID : 264330755912
Option 3 ID : 264330755913
Option 4 ID : 264330755910
Status : Answered
Chosen Option : 1

Q.23 Name the book written by Mahatma Gandhi in 1909.
Ans ¢ 1. Hind Swaraj

25 2. Village Swaraj
< 3. My Opinion
5 4. India of My Dreams

Question ID : 264330180349
Option 1 ID : 264330707363
Option 2 ID : 264330707364
Option 3 ID : 264330707365
Option 4 ID : 264330707366
Status : Answered
Chosen Option : 4
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Q.24 A spherical mirror, whose reflecting surface is curved inwards is called a
mirror.

Ans X 1.Convex
«” 2. Concave
< 3. Inclined

5 4. Plane

Question ID :

Option 1 ID

Chosen Option

264330193184

1 264330755847
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :
1

264330755848
264330755849
264330755846
Answered

dissolve in water?

Ans X 1. Crow
£ 2. Cockroach
25 3. Lizard

« 4. Fish

Q.25 Which of these animals excrete waste substances such as ammonia which directly

Question ID :

Option 1 ID

Chosen Option

264330193214

1 264330755969
Option 2 ID :
Option 31D :
Option 4 ID :

Status :
1

264330755966
264330755968
264330755967
Answered

dynasties?
5 1. Gupta
< 2. Kushana

Ans

o 3. Satavahana
£ 4. Maurya

Q.26 The four toranas of Sanchi stupa were added during the reign of which of the following

Question ID :

Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330119460
264330468123
264330468126
264330468125
264330468124
Answered

4
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Q.27 What is the purpose of the nationwide campaign called ‘Nai Chetna’, which was
launched by the Central Government in November 20227

Ans 1. To sensitise women about gender-based violence
5 2. To encourage women'’s participation in sports and fitness activities
25 3. To raise awareness about climate change among rural communities

5 4. To promote entrepreneurship opportunities for women in rural areas

Question ID : 264330177271
Option 1 ID : 264330695277
Option 2 ID : 264330695278
Option 3 ID : 264330695275
Option 4 ID : 264330695276
Status : Answered
Chosen Option : 4
Q.28 KC Runremsangi was awarded Padma Shri in 2023 in which of the following field?
Ans  ” 1. Mizoram Folk Music
< 2. Gujarati Folk Music
£5 3. Sikkim Folk Music
25 4. Uttarakhand Folk Music
Question ID : 264330181869
Option 1 ID : 264330713320
Option 2 ID : 264330713319
Option 3 ID : 264330713321
Option 4 ID : 264330713322
Status : Answered
Chosen Option : 2
Q.29 When was the Badminton Association of India founded?
Ans 7 1.1934
~52.1877
2 3.1931
25 4.1902
Question ID : 264330176103
Option 1 ID : 264330690708
Option 2 ID : 264330690709
Option 3 ID : 264330690707
Option 4 ID : 264330690710
Status : Answered
Chosen Option : 3
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Q.30 ‘The Perils Of Being Moderately Famous’ is the autobiography of
Ans X 1.Kalki Koechlin

#< 2. Tanaaz Currim
«” 3. Soha Ali Khan
< 4. Ayesha Takia

Chosen Option :

Question ID : 264330113199
Option 1 ID : 264330444883
Option 2 ID : 264330444882
Option 3 ID : 264330444884
Option 4 ID : 264330444381
Status : Answered
Chosen Option : 4
Q.31 Match the following and choose the CORRECT option.
Position of the object Size of the Image
1. At C a. Same size
2. Beyond C b. Diminished
3. Between P and F c. Enlarged
Ans X 1. 1-b, 2-a, 3-c
X 2. 1-a,2-c,3-b
« 3. 1-a, 2-b, 3-c
K 4. 1-b, 2-c, 3-a
Question ID : 264330193185
Option 1 ID : 264330755853
Option 2 ID : 264330755852
Option 3 ID : 264330755850
Option 4 ID : 264330755851
Status : Answered
Chosen Option : 2
Q.32 The green plants in a terrestrial ecosystem capture about of the energy of
sunlight that falls on their leaves and convert it into food energy.
Ans X 1.5%
« 2. 1%
& 3. 3%
X 4. 2%
Question ID : 264330193209
Option 1 ID : 264330755949
Option 2 ID : 264330755946
Option 3 ID : 264330755948
Option 4 ID : 264330755947
Status : Answered

1
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Q.33 Pandit Ram Narayan is primarily associated with which of the following musical

instruments?
Ans X 1.Dholak
” 2. Sarangi
< 3. Tabla
5 4. Sitar
Question ID : 264330181842
Option 1 ID : 264330713214
Option 2 ID : 264330713211
Option 3 ID : 264330713212
Option 4 ID : 264330713213
Status : Answered
Chosen Option : 2
Q.34 The first edition of IPL was held in the year
Ans X 1.2006
5 2.2007
«” 3.2008
< 4.2005
Question ID : 264330176789
Option 1 ID : 264330693372
Option 2 ID : 264330693373
Option 3 ID : 264330693374
Option 4 ID : 264330693371
Status : Answered
Chosen Option : 2
Q.35 Who had declared himself the King of Bengal and Bihar at the time of lltutmish
accession?
Ans ¢ 1. Ali Mardan Khan
£5 2. Nasir ad-Din Qabacha
£5 3. Mohammad Kaimur
< 4. Alauddin Masud
Question ID : 264330182474
Option 1 ID : 264330715690
Option 2 ID : 264330715687
Option 3 ID : 264330715688
Option 4 ID : 264330715689
Status : Answered
Chosen Option : 3
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following?
Ans X 1.CoH

X 2.CgH
« 3.CHo
X 4.CHs

Q.36 In homologous series, the formulae of successive compounds differ by which of the

Question ID :

Option 1 ID

Option 4 ID

Chosen Option

264330179726

1264330704897
Option 2 ID :
Option 3 ID :

264330704898
264330704895

: 264330704896
Status :
1

Answered

Q.37 idht & WeT WU A $ fba TabiigR ToTad! ¥aw gR &2

Ans X 1.9
o 2.9R
X 3.a
X 4. d=
Question ID : 264330179710
Option 1 ID : 264330704834
Option 2 ID : 264330704833
Option 3 ID : 264330704831
Option 4 ID : 264330704832
Status : Answered
Chosen Option : 4
Q.38 Which of the following is a part of excretory system in human beings?
Ans X 1. Spinal cord
«” 2. Glomerulus
5 3. Pulmonary artery
< 4. Pancreas
Question ID : 264330193205
Option 1 ID : 264330755933
Option 2 ID : 264330755930
Option 3 ID : 264330755932
Option 4 ID : 264330755931
Status : Answered

Chosen Option : 4
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Ans

Q.39 Who wrote ‘Cricket, My Style’?

«” 1. Kapil Dev

#5< 2. Rahul Dravid
Z5 3. Ravi Shastri
< 4. Robin Singh

Question ID :
Option 11D :
Option 2 ID :

Option 3 ID

Status

264330176793
264330693389
264330693388

1 264330693390
Option 4 ID :

264330693387

: Answered
Chosen Option :

1

Q.40 Which of the following is least reactive?

Ans X 1. Copper
& 2. Zinc
< 3. Sodium
« 4. Gold
Question ID : 264330193159
Option 1 ID : 264330755747
Option 2 ID : 264330755749
Option 3 ID : 264330755746
Option 4 ID : 264330755748
Status : Answered
Chosen Option : 2
Q.41 The fossil fuels like coal and petroleum contain small amounts of
Ans X 1. Oxygen and phosphorus
25 2. Iron and nickel
Z% 3. Carbon and lead
«” 4. Nitrogen and Sulphur
Question ID : 264330193215
Option 1 ID : 264330755970
Option 2 ID : 264330755971
Option 3 ID : 264330755972
Option 4 ID : 264330755973
Status : Answered
Chosen Option : 4
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Q.42 Identify the CORRECT statement (s) about the male reproductive system in humans?
A.The formation of germ-cells or sperms takes place in the ovaries.
B.The urethra forms a common passage for both the sperms and urine.
C.The sperms are tiny bodies that consist of mainly genetic material and a long tail
that helps them to move towards the female germ-cell.

Ans X 1. A/BandC
«” 2. OnlyBand C
2 3. OnlyAandC
X 4 OnlyAandB

Question ID

1264330193168
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330755785
264330755783
264330755784
264330755782
Answered

1

Q.43 What kind of problem is indicated by the following statement about the large dams?
Statement: Large dams displace large number of peasants and tribals without
adequate compensation or rehabilitation.

Ans X 1. Environmental
5 2. Economic
Z5 3. Educational
«” 4. Social

Option 3 ID

Status

Question ID :
Option 11D :
Option 2 ID :

264330193212
264330755960
264330755958

: 264330755961
Option 4 ID :

264330755959

: Answered
Chosen Option :

4

Q.44 Who among the following was the second Governor of Maharashtra?
Ans « 1. Girija Shankar Bajpai

£5 2. PV Cheriyan
£ 3. Sri Prakasa
5 4. Raja Maharaj Singh

Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Question ID :
Option 11D :

264330110842
264330435645
264330435648
264330435647
264330435646
Answered

2
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Q.45 How is Zinc sulphate written?

Ans X 1. ZnSO,
o 2. ZnSOy4
x 3. Zn2804
X 4. Zn,S03
Question ID : 264330193193
Option 1 ID : 264330755882
Option 2 ID : 264330755883
Option 3 ID : 264330755884
Option 4 ID : 264330755885
Status : Answered
Chosen Option : 2
Q.46 Which of the following languages was used to write Kalhana’s Rajatarangini?
Ans X 1.Persian
5 2. Arabic
< 3. Hindi
o 4. Sanskrit
Question ID : 264330182253
Option 1 ID : 264330714837
Option 2 ID : 264330714835
Option 3 ID : 264330714838
Option 4 ID : 264330714836
Status : Answered
Chosen Option : 4
Q.47 The Sl units of resistance is ohm, and is denoted by the symbol
Ans X 1. p
« 2. Q
K 3r
X 4R
Question ID : 264330193150
Option 1 ID : 264330755711
Option 2 ID : 264330755712
Option 3 ID : 264330755713
Option 4 ID : 264330755710
Status : Answered
Chosen Option : 2
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Q.48 The headquarters of Geological Survey of India is located at
Ans 7 1. Kolkata

< 2. Mysuru

5 3. Jaipur
#< 4. Bhubaneshwar

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :

Status

264330179486
264330703945
264330703946
264330703943
264330703944

: Answered
Chosen Option :

1

discovered in the future?

Ans ¢ 1. John Newlands
25 2. Henry Moseley
5% 3. Johann Wolfgang Débereiner

25 4. Dmitri Ivanovich Mendeléev

Q.49 Who assumed that only 56 elements existed in nature and no more elements would be

Question ID :

Option 1 ID

Option 3 ID

Status

264330193162

: 264330755759
Option 2 ID :

264330755761

: 264330755758
Option 4 ID :

264330755760

: Answered
Chosen Option :

3

Q.50 Which French traveller compared India with Iran and the Ottoman empire?
Ans X 1. Niccolao Manucci
£5 2. Francois Bernier
25 3. Peter Mundy

«” 4. Jean-Baptiste Tavernier

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330176586
264330692564
264330692563
264330692566
264330692565
Answered

2
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Widow Remarriage Act in 18567?
Ans X 1.Raja Ram Mohan Roy

«” 2. Ishwar Chandra Vidyasagar
#< 3. Debendranath Tagore
£ 4. Radhakant Deb

Q.51 Who among the following social reformers of India contributed in the passing of the

Question ID : 264330179096
Option 1 ID : 264330702388
Option 2 ID : 264330702387
Option 3 ID : 264330702390
Option 4 ID : 264330702389
Status : Answered
Chosen Option : 2
Q.52 Which of the following shows the flow of energy in an ecosystem?
Ans X 1. Producers — Carnivores — Herbivores —Sunlight
«” 2. Sunlight -Producers —Herbivores —Carnivores
5 3. Sunlight — Carnivores — Producers —Herbivores
25 4. Sunlight — Herbivores — Producer— Carnivores
Question ID : 264330193170
Option 1 ID : 264330755790
Option 2 ID : 264330755791
Option 3 ID : 264330755793
Option 4 ID : 264330755792
Status : Answered
Chosen Option : 2
Q.53 In Handball, each team consists of players on court.
Ans X 1.1
& 2.7
X 3.6
X 4.10
Question ID : 264330176791
Option 1 ID : 264330693380
Option 2 ID : 264330693381
Option 3 ID : 264330693379
Option 4 ID : 264330693382
Status : Answered
Chosen Option : 2
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Q.54 What is coulomb?
Ans ¢ 1. Slunit of electric charge

< 2. Sl unit of temperature
£ 3. Sl unit of electric current

25 4. Sl unit of luminous intensity

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :

Status

264330193188
264330755864
264330755862
264330755863
264330755865

: Answered
Chosen Option :

1

Q.55 The first phase of the green revolution was during which period?
Ans X 1. Mid 1950s to mid 1960s

5 2.1940s
#< 3.1990s
«” 4. Mid 1960s to mid 1970s

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330117758
264330462848
264330462849
264330462850
264330462847
Answered

1

Q.56 Which of these is the natural source for Oxalic acid?
Ans X 1. Lemon

< 2. Orange
5 3. Tamarind
«” 4. Tomato

Question ID

Option 2 ID

1264330193198
Option 11D :

264330755905

1 264330755904
Option 31D :
Option 4 ID :

Status :

Chosen Option :

264330755903
264330755902
Answered

4
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Q.57 Department of Investment and Public Asset Management works under the:
Ans X 1. Ministry of Micro, Small and Medium Enterprise

«” 2. Ministry of Finance
5 3. Ministry of Heavy Industries and Public Enterprises
< 4. Ministry of Corporate Affairs

Question ID : 264330175823
Option 1 ID : 264330689592
Option 2 ID : 264330689593
Option 3 ID : 264330689591
Option 4 ID : 264330689594
Status : Answered
Chosen Option : 2
Q.58 Who among the following was the founder of Shunga dynasty and ruled over the
Magadha empire?
Ans X 1.Brihdratha
< 2. Hala
«” 3. Pushyamitra
< 4. Ghananand
Question ID : 264330182250
Option 1 ID : 264330714823
Option 2 ID : 264330714825
Option 3 ID : 264330714826
Option 4 ID : 264330714824
Status : Answered
Chosen Option : 3
Q.59 The Qutab Minar is built in which of the following architectural styles?
Ans X 1. Dravidian architecture
25 2. Indo-Greek
«” 3. Indo-Turkish
5 4. Indo-Gothic
Question ID : 264330119463
Option 1 ID : 264330468135
Option 2 ID : 264330468138
Option 3 ID : 264330468137
Option 4 ID : 264330468136
Status : Answered
Chosen Option : 4
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Q.60 The 'Mullets’, 'Bhetki', and 'Pearl Spots' are examples of which of the following?

Chosen Option :

Ans X 1.Bacteria
X 2. Algae
5 3.Birds
o 4. Fishes
Question ID : 264330193178
Option 1 ID : 264330755824
Option 2 ID : 264330755825
Option 3 ID : 264330755823
Option 4 ID : 264330755822
Status : Answered
Chosen Option : 2
Q.61 Which of the following concepts is more useful for comparing the GDP of a country
with other countries?
Ans 7 1. Real GDP
< 2. GDP - depreciation
£5 3. GDP at factor cost
< 4. Nominal GDP
Question ID : 264330177841
Option 1 ID : 264330697452
Option 2 ID : 264330697453
Option 3 ID : 264330697454
Option 4 ID : 264330697451
Status : Answered
Chosen Option : 1
Q.62 Which of the following locations is known for copper mines in India?
Ans 7 1. Khetri
5 2. Raniganj
25 3. Singrauli
5 4. Bailadila
Question ID : 264330179531
Option 1 ID : 264330704126
Option 2 ID : 264330704125
Option 3 ID : 264330704124
Option 4 ID : 264330704123
Status : Answered

1
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Q.63 According to the Press Information Bureau, released in March 2023, the ‘Prime
Minister Shram Yogi Maan-Dhan’ provides old age security by giving a monthly
pension of how much amount after attaining the age of 60 years?

Ans X 1.%6,000
25 2.%2,000
” 3.%3,000
#5 4.%5,000
Question ID : 264330179803
Option 1 ID : 264330705206
Option 2 ID : 264330705203
Option 3 ID : 264330705204
Option 4 ID : 264330705205
Status : Answered
Chosen Option : 2
Q.64 “Silver chloride turns grey in sunlight to form silver metal”- is an example of
Ans X 1. Displacement reaction
£ 2. Double displacement reaction
5 3. Combination reaction
«” 4. Decomposition reaction
Question ID : 264330193196
Option 1 ID : 264330755897
Option 2 ID : 264330755894
Option 3 ID : 264330755896
Option 4 ID : 264330755895
Status : Answered

Chosen Option :

1

Q.65 The malarial parasite, Plasmodium divide into many daughter cells by
Ans X 1. Budding

x 2.
X 3.
& 4

Fragmentation
Binary fission

Multiple fission

Question ID :

Option 11D :
Option 2 ID :
Option 3 ID
Option 4 ID :
Status :

Chosen Option :

264330193167
264330755778
264330755780

: 264330755779

264330755781
Answered
3

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Q.66 control the opening and closing of the stomatal pores in plants.
Ans X 1. Roots
25 2. Buds

«” 3. Guard cells
25 4. Vascular bundle

Question ID : 264330193204
Option 1 ID : 264330755929
Option 2 ID : 264330755926
Option 3 ID : 264330755927
Option 4 ID : 264330755928
Status : Answered
Chosen Option : 4
Q.67 Who is the first Indian Woman to win two Olympic medals?
Ans X 1. Mary Kom
#< 2. Saina Nehwal
«” 3. PV Sindhu
#5 4. Sakshi Malik
Question ID : 264330176787
Option 1 ID : 264330693365
Option 2 ID : 264330693366
Option 3 ID : 264330693364
Option 4 ID : 264330693363
Status : Answered
Chosen Option : 1
Q.68 As per the Pension Fund Regulatory and Development Authority’s (PFRDA's)
amendment to its ‘Redressal of Subscriber Grievance Regulations 2015’, in March
2023, what is the new upper age limit for the Ombudsman?
Ans X 1.75years
5 2.86 years
” 3. 70 years
£5 4.85 years
Question ID : 264330179171
Option 1 ID : 264330702688
Option 2 ID : 264330702690
Option 3 ID : 264330702687
Option 4 ID : 264330702689
Status : Answered
Chosen Option : 3
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Q.69 Which of these is NOT a programming language?
Ans X 1. C++

Chosen Option :

< 2. Python
3. C4
X 4. Java
Question ID : 264330193179
Option 1 ID : 264330755829
Option 2 ID : 264330755827
Option 3 ID : 264330755828
Option 4 ID : 264330755826
Status : Answered
Chosen Option : 3
Q.70 Which status was granted to Rail Vikas Nigam Limited in 2023?
Ans X 1. Miniratna |
5 2. Maharatna
< 3. Miniratna Il
«” 4. Navratna
Question ID : 264330175822
Option 1 ID : 264330689589
Option 2 ID : 264330689588
Option 3 ID : 264330689590
Option 4 ID : 264330689587
Status : Answered
Chosen Option : 4
Q.71 Magnetic field is a quantity that has
Ans ¢ 1. Both direction and magnitude
< 2. Only Magnitude
5 3. Only direction
25 4. Neither direction nor magnitude
Question ID : 264330193151
Option 1 ID : 264330755716
Option 2 ID : 264330755715
Option 3 ID : 264330755714
Option 4 ID : 264330755717
Status : Answered

1
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Territories which recorded a literacy rate of more than 90%.
Ans 1. Kerala, Lakshadweep and Mizoram

5 2. Kerala, Lakshadweep and Tamil Nadu
25 3. Kerala, Puducherry and Mizoram
£5 4. Kerala, Puducherry and Tripura

Q.72 According to the Census of India 2011, identify the correct group of States and Union

Question ID : 264330181254
Option 1 ID : 264330710940
Option 2 ID : 264330710939
Option 3 ID : 264330710941
Option 4 ID : 264330710942
Status : Answered
Chosen Option : 1
Q.73 Which of the following is CORRECT about plane mirror?
Ans X 1. Image formed by a plane mirror is always real.
< 2. The size of the image is smaller than that of the object.
5 3. The image is laterally erect.
«” 4. The distance of the object from the mirror is equal to the distance of the image from
the mirror.
Question ID : 264330193144
Option 1 ID : 264330755686
Option 2 ID : 264330755688
Option 3 ID : 264330755687
Option 4 ID : 264330755689
Status : Answered
Chosen Option : 1
Q.74 ‘
Match column A with column B.
Column-A Column-B
i. Venus flower basket a. Physalia
ii. Portuguese man of war  b. Euplectella
iii. Sea cucumbers c. Acfiniaria
iv. Sea anemone d. Holothuroidea
Ans X 1.i-c, ii-b, iii-a, iv-d
X 2.i-b, ii-c, iii-d, iv-a
o 3.i-b, ii-a, iii-d, iv-c
X 4. i-c, ii-b, iii-d, iv-a
Question ID : 264330120914
Option 1 ID : 264330473874
Option 2 ID : 264330473873
Option 3 ID : 264330473872
Option 4 ID : 264330473871
Status : Answered
Chosen Option : 3
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Ans X 1.177 persons/sq. km
< 2. 90 persons/sqg. km
25 3. 140 persons/sq. km
«” 4. 117 persons/sqg. km

Q.75 According to Census of India, what was the population density of India in 1951?

Question ID : 264330181124
Option 1 ID : 264330710442
Option 2 ID : 264330710439
Option 3 ID : 264330710440
Option 4 ID : 264330710441
Status : Answered
Chosen Option : 4
Q.76 Which of these is a metalloid or semi-metal?
Ans 7 1. Boron
25 2. Lithium
#< 3. Chlorine
25 4.Iron
Question ID : 264330193161
Option 1 ID : 264330755756
Option 2 ID : 264330755754
Option 3 ID : 264330755757
Option 4 ID : 264330755755
Status : Answered
Chosen Option : 2
Q.77 The southwest monsoon sets in over the Kerala coast by every year.
Ans X 115" May
& 2. 15t May
2 3.15M June
o 4. 15t June
Question ID : 264330179476
Option 1 ID : 264330703906
Option 2 ID : 264330703903
Option 3 ID : 264330703905
Option 4 ID : 264330703904
Status : Answered
Chosen Option : 3
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Q.78 Which of the following is a limitation of globalisation?
Ans X 1.Reduced access to new markets

«” 2. Depletion of natural resources more fast
£5 3. Demotion of economic growth

25 4. Decrease in the knowledge and use of technology

Question ID : 264330177852
Option 1 ID : 264330697495
Option 2 ID : 264330697498
Option 3 ID : 264330697496
Option 4 ID : 264330697497
Status : Answered
Chosen Option : 2
Q.79 Identify the court poet who mentioned the achievements of Samudragupta in the
Prayag Prashasti inscription.
Ans X 1. Amarasimha
X 2. Kalidasa
«” 3. Harisena
< 4. Banabhatta
Question ID : 264330182243
Option 1 ID : 264330714796
Option 2 ID : 264330714797
Option 3 ID : 264330714798
Option 4 ID : 264330714795
Status : Answered
Chosen Option : 3
Q.80 In which year was the Rowlatt Act passed in British India?
Ans X 1.1921
502.1924
5 3.1915
o« 4.1919
Question ID : 264330182278
Option 1 ID : 264330714937
Option 2 ID : 264330714938
Option 3 ID : 264330714935
Option 4 ID : 264330714936
Status : Answered
Chosen Option : 4
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Q.81 As per Human Development Report 2021-22, in the context of multi-dimensional
poverty, what is the percentage of intensity of deprivation in India?

Ans X 1.413%
X 2.38.7%
o 3.43.9%
X 4.48.4%

Question ID : 264330179558
Option 1 ID : 264330704232
Option 2 ID : 264330704234
Option 3 ID : 264330704231
Option 4 ID : 264330704233
Status : Answered
Chosen Option : 1

Q.82 Identify the Chahamana ruler who defeated the Afghan ruler Sultan Muhammad Ghori
in 1191.

Ans ¢ 1. Prithviraja Chauhan
£ 2. Jaichand
< 3. Mahichandra
5 4. Bhimsen |

Question ID : 264330182254
Option 1 ID : 264330714842
Option 2 ID : 264330714841
Option 3 ID : 264330714839
Option 4 ID : 264330714840
Status : Answered
Chosen Option : 1

Q.83 Identify the CORRECT statements.
A.Zinc and lead are less reactive elements than copper.
B.Zinc and lead displace copper from its compounds.

Ans X 1. Both Statements A and B are correct.
X 2. Both Statements A and B are incorrect.
«” 3. Statement A is incorrect and Statement B is correct.

X 4. Statement A is correct and Statement B is incorrect.

Question ID : 264330193197
Option 1 ID : 264330755898
Option 2 ID : 264330755899
Option 3 ID : 264330755901
Option 4 ID : 264330755900
Status : Answered
Chosen Option : 1
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Q.84 Bagurumba and Jhumur folk dance forms are associated with which of the following
states?

Ans X 1.Karnataka

o 2. Assam
< 3. Bihar
5 4. Gujarat
Question ID : 264330181377
Option 1 ID : 264330711431
Option 2 ID : 264330711433
Option 3 ID : 264330711432
Option 4 ID : 264330711434
Status : Answered
Chosen Option : 2
Q.85 Whose autobiography is titled ‘An Unsuitable Boy’?
Ans X 1. Boney Kapoor
«” 2. Karan Johar
Z5 3. Sajid Nadiadwala
< 4. Aditya Chopra
Question ID : 264330113198
Option 1 ID : 264330444380
Option 2 ID : 264330444878
Option 3 ID : 264330444879
Option 4 ID : 264330444877
Status : Answered
Chosen Option : 1
Q.86 Which of these organisms ingests its food with the help of its false feet or
pseudopodia?
Ans X 1. Hydra
5 2. Cuscuta
£5 3. Earthworm
«” 4. Amoeba
Question ID : 264330193217
Option 1 ID : 264330755978
Option 2 ID : 264330755981
Option 3 ID : 264330755980
Option 4 ID : 264330755979
Status : Answered
Chosen Option : 4
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Q.87 Which of the following is not a criticism against the the Indian Constitution?
Ans X 1. Carbon Copy of 1935 Act

#< 2. Un-Gandhian Constitution
£5 3. Borrowed Constitution

«” 4. Blend of rigidity and flexibility

Question ID : 264330178018
Option 1 ID : 264330698150
Option 2 ID : 264330698149
Option 3 ID : 264330698148
Option 4 ID : 264330698147
Status : Answered
Chosen Option : 4
Q.88 In which year was the Prohibition of Online Gaming and Regulation of Online Games
Bill approved by the Governor of Tamil Nadu?
Ans X 1.2021
o« 2.2023
25 3.2022
25 4.2020
Question ID : 264330179172
Option 1 ID : 264330702692
Option 2 ID : 264330702694
Option 3 ID : 264330702693
Option 4 ID : 264330702691
Status : Answered
Chosen Option : 3
Q.89 With respect to the water harvesting in India, 'Khadins' is associated with which of the
following?
Ans X 1. Maharashtra
&5 2. Kerala
«” 3. Rajasthan
< 4. Bihar
Question ID : 264330193171
Option 1 ID : 264330755795
Option 2 ID : 264330755797
Option 3 ID : 264330755794
Option 4 ID : 264330755796
Status : Answered
Chosen Option : 3
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Q.90 In human beings, Urethra is a part of .
Ans X 1. Digestive system

#< 2. Circulatory system
«” 3. Excretory system

< 4. Respiratory system

Question ID : 264330193165
Option 1 ID : 264330755773
Option 2 ID : 264330755770
Option 3 ID : 264330755772
Option 4 ID : 264330755771
Status : Answered
Chosen Option : 3
Q.91 Who among the following was the ruler of Kashmir from 980 AD to 1003 AD?
Ans o 1.Didda
5 2. Rudramadevi
25 3. Simharaj
25 4. Kalhan
Question ID : 264330119757
Option 1 ID : 264330469303
Option 2 ID : 264330469304
Option 3 ID : 264330469306
Option 4 ID : 264330469305
Status : Answered
Chosen Option : 4
Q.92 Who was declared by Shah Jahan as his successor?
Ans X 1.Suleman
< 2. Aurangzeb
£5 3. Jahanara
«” 4. Dara Shikoh
Question ID : 264330119737
Option 1 ID : 264330469226
Option 2 ID : 264330469224
Option 3 ID : 264330469223
Option 4 ID : 264330469225
Status : Answered
Chosen Option : 4
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Question ID : 264330116533
Option 1 ID : 264330458218
Option 2 ID : 264330458219
Option 3 ID : 264330458217
Option 4 ID : 264330458220
Status : Answered
Chosen Option : 3
Q.94 In 2023, the Tamil Nadu School Education Department planned to extend the ‘Vaasipu
lyakkam’ programme from September 2023 for students of which class in state
government schools?
Ans X 1.Classes3to7
5 2. Classes 6to 12
< 3. Classes 1to 5
o 4. Classes 4 t0 9
Question ID : 264330179786
Option 1 ID : 264330705136
Option 2 ID : 264330705138
Option 3 ID : 264330705135
Option 4 ID : 264330705137
Status : Answered
Chosen Option : 2
Q.95 Who among the following found out the relationship between the current I, flowing in a
metallic wire and the potential difference across its terminals?
Ans X 1. James Prescott Joule
£% 2. Charles Coulomb
5 3. Alessandro Volta
” 4. Georg Simon Ohm
Question ID : 264330193149
Option 1 ID : 264330755708
Option 2 ID : 264330755709
Option 3 ID : 264330755706
Option 4 ID : 264330755707
Status : Answered
Chosen Option : 4
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population of India was 79.8%.
population of India was 10.2%.
Ans X 1.Only statement B is correct.
«” 2. Only statement A is correct.
#< 3. Both the statements are correct.

£5 4. Both the statements are incorrect.

Q.96 Read the following statements and select the appropriate option.
(A) As per the Census of India 2011, the percentage of Hindu Population in total

(B) As per the Census of India 2011, the percentage of Muslim Population in total

Question ID : 264330181252
Option 1 ID : 264330710934
Option 2 ID : 264330710933
Option 3 ID : 264330710931
Option 4 ID : 264330710932
Status : Answered
Chosen Option : 3
Q.97 According to Law of Reflection, the angle of incidence is the angle of
reflection.
Ans X 1. half
5 2. greater than
«” 3. equal to
25 4. less than
Question ID : 264330193143
Option 1 ID : 264330755685
Option 2 ID : 264330755683
Option 3 ID : 264330755682
Option 4 ID : 264330755684
Status : Answered
Chosen Option : 3
Q.98 Which of these is NOT a nocturnal animal?
Ans X 1. Bat
«” 2. Horse
5 3. Owl
#< 4. Raccoon
Question ID : 264330193176
Option 1 ID : 264330755815
Option 2 ID : 264330755816
Option 3 ID : 264330755814
Option 4 ID : 264330755817
Status : Answered

Chosen Option : 2
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Q.99 In July 2023, how many urban local bodies were included in the ‘Ama Pokhari Yojana’
of Odisha?

Ans X 1.110
X 2.105

X 3.130
& 4.115

Question ID : 264330179164
Option 1 ID : 264330702660
Option 2 ID : 264330702659
Option 3 ID : 264330702662
Option 4 ID : 264330702661
Status : Answered
Chosen Option : 1

Q.100 Which of the following is CORRECT with respect to given statements A and B?
Statements A: The resistance of a conductor depends directly on its length, inversely
on its area of cross-section, and also on the material of the conductor.

B: The commercial unit of electrical energy is kilowatt hour (kWh).

Ans X 1. Statement A is incorrect and Statement B is correct.
< 2. Both Statements A and B are incorrect.
«” 3. Both Statements A and B are correct.

< 4. Statement A is correct and Statement B is incorrect.

Question ID : 264330193190
Option 1 ID : 264330755873
Option 2 ID : 264330755871
Option 3 ID : 264330755870
Option 4 ID : 264330755872
Status : Answered
Chosen Option : 3
Section : Comprehension and Knowledge of English Language
Q.1 Select the appropriate synonym of the given word.
Dry
Ans X 1. Awful
< 2. Arcane
25 3. Ardent
o 4. Arid
Question ID : 264330171601
Option 1 ID : 264330673020
Option 2 ID : 264330673021
Option 3 ID : 264330673022
Option 4 ID : 264330673019
Status : Answered
Chosen Option : 4
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Q.2 Select the most appropriate synonym of the given word.
Engross

Ans X 1. Contain
£5 2. Distract
«” 3. Absorb
5 4. Attract

Question ID :
1 264330699902
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

Option 1 ID

264330178464

264330699899
264330699900
264330699901
Answered

1

They will not have cooked the rice.
Ans ¢ 1. The rice will not have been cooked by them.

5 2. The rice will not have being cooked by them.
25 3. The rice will not had been cooked by them.
£ 4. The rice should not have been cooked by them.

Q.3 Select the option that expresses the given sentence in passive voice.

Chosen Option :

Question ID : 264330171576
Option 1 ID : 264330672919
Option 2 ID : 264330672922
Option 3 ID : 264330672921
Option 4 ID : 264330672920
Status : Answered
Chosen Option : 1
Q.4 Select the most appropriate ANTONYM of the underlined word.
Our salaries are disbursed on the fifth of every month.
Ans X 1.distinguished
25 2. discarded
o 3. collected
< 4. paid out
Question ID : 264330178147
Option 1 ID : 264330698654
Option 2 ID : 264330698653
Option 3 ID : 264330698651
Option 4 ID : 264330698652
Status : Answered

3
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Q.5 Select the most appropriate synonym of the underlined word.

I like the luscious taste of ripe peaches.
Ans 7 1. Delicious

5 2. Glorious
£5 3. Furious
< 4. Obvious
Question ID : 264330173997
Option 1 ID : 264330682445
Option 2 ID : 264330682444
Option 3 ID : 264330682443
Option 4 ID : 264330682446
Status : Answered
Chosen Option : 1
Q.6 Select the most appropriate homophone to fill in the blank.
She made a paper kite and some air into the kite.
Ans X 1.bloo
« 2. blew
25 3. blue
< 4. beau
Question ID : 264330174616
Option 1 ID : 264330684882
Option 2 ID : 264330684881
Option 3 ID : 264330684879
Option 4 ID : 264330684880
Status : Answered
Chosen Option : 2
Q.7 Select the most appropriate ANTONYM to substitute the underlined word and complete
the given sentence.
Poetry writing is not an industrious pursuit.
Ans 7 1.idle
25 2. idol
£5 3. patient
5 4. ideal
Question ID : 264330174603
Option 1 ID : 264330684828
Option 2 ID : 264330684830
Option 3 ID : 264330684829
Option 4 ID : 264330684827
Status : Answered
Chosen Option : 2
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Q.8 Select the most appropriate synonym of the given word.
Mundane

Ans X 1.Strange

«” 2. Ordinary
25 3. Stirring
25 4. Annoying
Question ID : 264330175237
Option 1 ID : 264330687304
Option 2 ID : 264330687303
Option 3 ID : 264330687306
Option 4 ID : 264330687305
Status : Answered
Chosen Option : 4
Q.9 Select the most appropriate synonym for the underlined word in the given sentence.
The cheetah, with rapid speed, sprinted across the savannah in pursuit of its prey.
Ans X 1.Secret
5 2. Clever
«” 3. Quick
#5 4. Stubborn
Question ID : 264330172811
Option 1 ID : 264330677782
Option 2 ID : 264330677779
Option 3 ID : 264330677781
Option 4 ID : 264330677780
Status : Answered
Chosen Option : 3
Q.10 Select the most appropriate homophone to fill in the blank.
The lawyer had to over the contract carefully.
Ans 7 1.pore
< 2. poor
25 3. pour
5 4. paw
Question ID : 264330178215
Option 1 ID : 264330698915
Option 2 ID : 264330698917
Option 3 ID : 264330698916
Option 4 ID : 264330698918
Status : Answered
Chosen Option : 3

Downloaded From www.exammix.com




Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Ans X 1. Vigilant
£ 2. Dutiful
< 3. Meticulous

Q.11 Select the most appropriate synonym for the underlined word in the given sentence.
The malicious hacker attempted to gain unauthorised access to the company’s date.

o 4. Spiteful
Question ID : 264330172809
Option 1 ID : 264330677774
Option 2 ID : 264330677771
Option 3 ID : 264330677772
Option 4 ID : 264330677773
Status : Marked For Review
Chosen Option : 4
Q.12 Select the most appropriate option to fill in the blank.
The in the lake was blocking my view.
Ans 7 1.reed
£ 2. ride
5 3. rede
5 4. read
Question ID : 264330174407
Option 1 ID : 264330684048
Option 2 ID : 264330684050
Option 3 ID : 264330684049
Option 4 ID : 264330684047
Status : Marked For Review
Chosen Option : 2
Q.13 Select the most appropriate synonym of the given word.
Hate
Ans X 1. Adore
o 2. Despise
< 3. Oppose
5 4. Severe
Question ID : 264330174590
Option 1 ID : 264330684777
Option 2 ID : 264330684776
Option 3 ID : 264330684778
Option 4 ID : 264330684775
Status : Marked For Review
Chosen Option : 2
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Q.14 Select the most appropriate ANTONYM of the given word.

Plentiful
Ans X 1.Coarse
5 2. Plausible
«” 3. Sparse
< 4. Course
Question ID : 264330178339
Option 1 ID : 264330699413
Option 2 ID : 264330699411
Option 3 ID : 264330699412
Option 4 ID : 264330699414
Status : Answered
Chosen Option : 3
Q.15 Based on the given situation, choose the most appropriate idiom to fill in the blank.
Interviewer:” Tell me about a challenging situation you’ve faced and how you handled
it.”
Candidate: “l once had to when a project deadline was moved up
unexpectedly.”
Ans ¢ 1. bite the bullet
5 2. hit the nail on the head
5 3. spill the beans
5 4. break the ice
Question ID : 264330176324
Option 1 ID : 264330691570
Option 2 ID : 264330691569
Option 3 ID : 264330691567
Option 4 ID : 264330691568
Status : Answered
Chosen Option : 1
Q.16 Select the option that expresses the given sentence in passive voice.
The company is reaping the benefits.
Ans X 1. The benefits can be reap by the company.
< 2. The benefits had reaped by the company.
«” 3. The benefits are being reaped by the company.
25 4. The benefits will be reaps by the company.
Question ID : 264330173968
Option 1 ID : 264330682330
Option 2 ID : 264330682328
Option 3 ID : 264330682329
Option 4 ID : 264330682327
Status : Answered
Chosen Option : 3
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Q.17 Select the option that expresses the given sentence in reported speech.
“We’ve never seen such a beautiful sunset!” they exclaimed with wonder.
Ans X 1. With wonder, they exclaimed they never saw such beautiful sunset.
5 2. They exclaimed that they’ve never seen such a beautiful sunset.
«” 3. They exclaimed with wonder that they had never seen such a beautiful sunset.
< 4. With wonder, they exclaimed that they never had seen such a beautiful sunset.
Question ID : 264330176293
Option 1 ID : 264330691445
Option 2 ID : 264330691444
Option 3 ID : 264330691443
Option 4 ID : 264330691446
Status : Answered
Chosen Option : 3
Q.18 Select the most appropriate synonym of the word ‘remarkable’ in the given sentence.
The acrobat's extraordinary stunts left the audience in awe, applauding for more.
Ans X 1.Awe
25 2. Applauding
«” 3. Extraordinary
25 4. Stunts
Question ID : 264330173167
Option 1 ID : 264330679169
Option 2 ID : 264330679170
Option 3 ID : 264330679167
Option 4 ID : 264330679168
Status : Answered
Chosen Option : 3
Q.19 Select the most appropriate synonym of the underlined word.
The leader’s remarks were considered outrageous.
Ans X 1.Resistible
< 2. Welcoming
«” 3. Shocking
< 4. Praiseworthy
Question ID : 264330178336
Option 1 ID : 264330699402
Option 2 ID : 264330699399
Option 3 ID : 264330699401
Option 4 ID : 264330699400
Status : Answered
Chosen Option : 1
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Q.20 Select the appropriate synonym of the given word.

Destroy
Ans X 1.Rush

«” 2. Ruin
25 3. Rattle
< 4. Rumble
Question ID : 264330171600
Option 1 ID : 264330673015
Option 2 ID : 264330673018
Option 3 ID : 264330673016
Option 4 ID : 264330673017
Status : Answered
Chosen Option : 2
Q.21 Select the most appropriate synonym of the given word.
Erroneous
Ans X 1.Prejudiced
5 2. Precise
«” 3. Inaccurate
25 4. llegible
Question ID : 264330178463
Option 1 ID : 264330699897
Option 2 ID : 264330699895
Option 3 ID : 264330699896
Option 4 ID : 264330699898
Status : Answered
Chosen Option : 3
Q.22 Select the option that expresses the given sentence in active voice.
The entire pizza was devoured by Becky in a moment.
Ans ¢ 1. Becky devoured the entire pizza in a moment.
#< 2. Becky devours the entire pizza in a moment.
#< 3. Becky has devoured the entire pizza in a moment.
#X 4. Becky is devouring the entire pizza in a moment.
Question ID : 264330172693
Option 1 ID : 264330677326
Option 2 ID : 264330677324
Option 3 ID : 264330677323
Option 4 ID : 264330677325
Status : Answered
Chosen Option : 1
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Q.23 Select the most appropriate synonym of the given word.

Enforce
Ans 7 1. Implement

5 2. Demoralise

5 3. Abolish
< 4. Oppress
Question ID : 264330173993
Option 1 ID : 264330682430
Option 2 ID : 264330682428
Option 3 ID : 264330682429
Option 4 ID : 264330682427
Status : Answered
Chosen Option : 1
Q.24 Select the option that expresses the given sentence in passive voice.
The warrior defeated the three-eyed giant.
Ans X 1. The three-eyed giant had been defeated by the warrior.
«” 2. The three-eyed giant was defeated by the warrior.
< 3. The three-eyed giant is defeated by the warrior.
5 4. The three-eyed giant will be defeated by the warrior.
Question ID : 264330174365
Option 1 ID : 264330683880
Option 2 ID : 264330683879
Option 3 ID : 264330683881
Option 4 ID : 264330683882
Status : Answered
Chosen Option : 2
Q.25 Select the most appropriate meaning of the word based on the context of the sentence
to fill in the blank.
The sailor will sail the ship's bow. The word ‘bow’ here means
Ans X 1.adecorative knot
#< 2. a curved weapon used for shooting arrows
«” 3. the front part of a ship
#5< 4. to bend the upper part of the body
Question ID : 264330178208
Option 1 ID : 264330698890
Option 2 ID : 264330698888
Option 3 ID : 264330698889
Option 4 ID : 264330698887
Status : Answered
Chosen Option : 2
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the school.
Ans X 1. chauvinism

«” 2. impartiality

Q.26 Select the word OPPOSITE in meaning to the underlined word in the given sentence.
The teacher’s consistent nepotism in the class created a favourable environment in

5 3. feudalism
25 4. feminism
Question ID : 264330173130
Option 1 ID : 264330679020
Option 2 ID : 264330679022
Option 3 ID : 264330679021
Option 4 ID : 264330679019
Status : Answered
Chosen Option : 2
Q.27 Select the most appropriate synonym of the given word.
Gallant
Ans ¢ 1. Courageous
#5 2. Quick
X 3. coward
< 4. Craven
Question ID : 264330174331
Option 1 ID : 264330683744
Option 2 ID : 264330683746
Option 3 ID : 264330683745
Option 4 ID : 264330683743
Status : Answered
Chosen Option : 1
Q.28 Select the INCORRECTLY spelt word.
Ans X 1. Occurrence
5 2. Jealousy
< 3. Campaign
«” 4. Hourde
Question ID : 264330174023
Option 1 ID : 264330682550
Option 2 ID : 264330682547
Option 3 ID : 264330682549
Option 4 ID : 264330682548
Status : Answered
Chosen Option : 4
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nervous.
Ans 7 1. Confident

Q.29 Select the most appropriate synonym for the underlined word in the given sentence.
Annie remained optimistic about her chances of success though she was a bit

< 2. Pleading
£5 3. Frivolous
< 4. Cynical
Question ID : 264330172810
Option 1 ID : 264330677776
Option 2 ID : 264330677778
Option 3 ID : 264330677777
Option 4 ID : 264330677775
Status : Answered
Chosen Option : 1
Q.30 Identify the meaning of the underlined word in the given sentence.
Did you hear the bell ring?
Ans X 1. A jewel that we wear on our finger
< 2. To telephone someone
«” 3. Sound of a bell
25 4. A round object
Question ID : 264330174607
Option 1 ID : 264330684843
Option 2 ID : 264330684845
Option 3 ID : 264330684846
Option 4 ID : 264330684844
Status : Answered
Chosen Option : 3
Q.31 Select the INCORRECTLY spelt word.
Ans X 1. Wavy
5 2. Loyal
< 3. Repulsive
o 4. Virtuel
Question ID : 264330178826
Option 1 ID : 264330701333
Option 2 ID : 264330701334
Option 3 ID : 264330701331
Option 4 ID : 264330701332
Status : Answered
Chosen Option : 4
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Q.32 Select the most appropriate ANTONYM of the given word.

Dense
Ans X 1.Spicy
25 2. Warm
#< 3. Broad
o 4. Sparse
Question ID : 264330172725
Option 1 ID : 264330677454
Option 2 ID : 264330677453
Option 3 ID : 264330677452
Option 4 ID : 264330677451
Status : Answered
Chosen Option : 4
Q.33 Select the most appropriate ANTONYM of the given word.
Affirm
Ans X 1. Deceive
«” 2. Refuse
< 3. Convey
5 4. Criticise
Question ID : 264330172726
Option 1 ID : 264330677456
Option 2 ID : 264330677457
Option 3 ID : 264330677458
Option 4 ID : 264330677455
Status : Answered
Chosen Option : 2
Q.34 In which of the following sentences is the indefinite article used correctly?
Ans X 1.He has an unique personality.
£ 2. She is an urologist.
£5 3. 1am an intelligent.
«” 4. Many a man was in the queue.
Question ID : 264330181131
Option 1 ID : 264330710470
Option 2 ID : 264330710469
Option 3 ID : 264330710467
Option 4 ID : 264330710468
Status : Answered
Chosen Option : 4
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Q.35 Select the INCORRECTLY spelt word.
Ans X 1.Exhaustively

25 2. Individually
«” 3. Definitly
< 4. Systematically

Question ID : 264330174022
Option 1 ID : 264330682546
Option 2 ID : 264330682544
Option 3 ID : 264330682543
Option 4 ID : 264330682545
Status : Answered
Chosen Option : 3
Q.36 Select the most appropriate synonym of the underlined word.
He has a reputation for being veracious, so people generally take his word for granted.
Ans X 1.Sily
«” 2. Honest
5 3. Fickle
5 4. Steady
Question ID : 264330173999
Option 1 ID : 264330682451
Option 2 ID : 264330682454
Option 3 ID : 264330682453
Option 4 ID : 264330682452
Status : Answered
Chosen Option : 1
Q.37 Read the sentence carefully and select the synonym of the underlined word from the
given options.
| was impressed by a charming and amiable man whom | met yesterday at the store.
Ans o 1. Friendly
£% 2. Fashionable
< 3. Timid
5 4. Brave
Question ID : 264330172723
Option 1 ID : 264330677445
Option 2 ID : 264330677443
Option 3 ID : 264330677444
Option 4 ID : 264330677446
Status : Answered
Chosen Option : 1
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Q.38 Select the most appropriate synonym of the underlined word.
He is ready to meditate for his mental well being.

Ans X 1. Deject
25 2. Justify
«” 3. Ponder
25 4. Tolerate
Question ID : 264330174387
Option 1 ID : 264330683969
Option 2 ID : 264330683970
Option 3 ID : 264330683967
Option 4 ID : 264330683968
Status : Answered
Chosen Option : 3
Q.39 Select the appropriate synonym of the given word.
Enormous
Ans X 1. Vain
25 2. Vacant
o 3. Vast
25 4. Vague
Question ID : 264330171602
Option 1 ID : 264330673025
Option 2 ID : 264330673024
Option 3 ID : 264330673023
Option 4 ID : 264330673026
Status : Answered
Chosen Option : 3
Q.40 Select the most appropriate ANTONYM for the underlined word in the sentence.
Samples should not be random all the time.
Ans X 1. Ordinary
X 2. Rare
«” 3. Specific
#< 4. Honourable
Question ID : 264330178343
Option 1 ID : 264330699428
Option 2 ID : 264330699427
Option 3 ID : 264330699429
Option 4 ID : 264330699430
Status : Answered
Chosen Option : 3
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Q.41 Select the option that expresses the given sentence in active voice.
The car is being washed by the carwash attendant at the moment.

Ans ¢ 1. The carwash attendant is washing the car at the moment.
5 2. The carwash attendant is being washing the car at the moment.
< 3. The carwash attendant washes the car at the moment.

5 4. The carwash attendant has been washing the car at the moment.

Question ID : 264330172789
Option 1 ID : 264330677692
Option 2 ID : 264330677694
Option 3 ID : 264330677691
Option 4 ID : 264330677693
Status : Answered
Chosen Option : 1

Q.42 Select the most appropriate ANTONYM of the given word.
Ascend

Ans 1. Descend
£5 2. Mount
< 3. Walk
X 4. Climb

Question ID : 264330178470
Option 1 ID : 264330699924
Option 2 ID : 264330699925
Option 3 ID : 264330699926
Option 4 ID : 264330699923
Status : Answered
Chosen Option : 1

Q.43 Select the most appropriate option to fill in the blanks.
He sent the letter at the wrong g
Everybody was impressed by director’s opening in the meeting.

Ans X 1.speech

X 2. talk
< 3. area
«” 4. address

Question ID : 264330174405
Option 1 ID : 264330684039
Option 2 ID : 264330684041
Option 3 ID : 264330684042
Option 4 ID : 264330684040
Status : Answered
Chosen Option : 4
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Q.44 Select the option that expresses the given sentence in passive voice.
Don't allow yourself to be deceived by looks.

Ans ¢ 1. Let yourself not be allowed to be deceived by looks.
5 2. Yourself should not be allowed to be deceived by looks.
25 3. Yourself is not to be allowed to be deceived by looks.

5 4. You are not to be allowed to be deceived by looks.

Question ID : 264330182451
Option 1 ID : 264330715604
Option 2 ID : 264330715603
Option 3 ID : 264330715606
Option 4 ID : 264330715605
Status : Answered
Chosen Option : 4
Q.45 Select the option that expresses the given sentence in indirect speech.
“| won the competition!”, exclaimed Sara.
Ans X 1. Sara exclaimed with joy that she won the competition.
£% 2. Sara exclaimed with joy that | won the competition.
«” 3. Sara exclaimed with joy that she had won the competition.
£5 4. Sara exclaimed with joy that she wins the competition.
Question ID : 264330172255
Option 1 ID : 264330675584
Option 2 ID : 264330675585
Option 3 ID : 264330675583
Option 4 ID : 264330675586
Status : Answered
Chosen Option : 3
Q.46 Select the option that expresses the given sentence in passive voice.
She wrote a beautiful song.
Ans X 1. A beautiful song was writing by her.
«” 2. A beautiful song was written by her.
£ 3. A beautiful song has been written by her.
£ 4. A beautiful song was wrote by her.
Question ID : 264330175281
Option 1 ID : 264330687465
Option 2 ID : 264330687463
Option 3 ID : 264330687466
Option 4 ID : 264330687464
Status : Answered
Chosen Option : 2
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Q.47 Select the INCORRECTLY spelt word.
Ans X 1.Errors

< 2. Psychology
«” 3. Adition

< 4. Baggage

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :

Status

264330173137
264330679050
264330679049
264330679048
264330679047

: Answered
Chosen Option :

3

given sentence.
The person who is ready to take risk is never afraid of ups and downs.

Ans X 1.to make head and tail of it
5 2. build castles in the air
#< 3. to be beaten neck and crop

o 4. to sail close to the winds

Q.48 Select the most appropriate idiom that can substitute the highlighted segment in the

Chosen Option :

Question ID : 264330182002
Option 1 ID : 264330713854
Option 2 ID : 264330713852
Option 3 ID : 264330713851
Option 4 ID : 264330713853
Status : Answered
Chosen Option : 4
Q.49 Select the option that expresses the given sentence in indirect speech. .
He said, “l am sad.”
Ans ¢ 1. He said that he was sad.
£ 2. He said that he has been sad.
#< 3. He said that | was sad.
X 4. He said that he is sad.
Question ID : 264330176362
Option 1 ID : 264330691715
Option 2 ID : 264330691718
Option 3 ID : 264330691716
Option 4 ID : 264330691717
Status : Answered

1
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Q.50 Select the option that expresses the given sentence in active voice.
Today's newspaper has been read by us.

Ans X 1. We are reading today’s newspaper.
5 2. We read today’s newspaper.
«” 3. We have read today’s newspaper.
25 4. We reads today’s newspaper.

Question ID : 264330176360
Option 1 ID : 264330691707
Option 2 ID : 264330691709
Option 3 ID : 264330691710
Option 4 ID : 264330691708
Status : Answered
Chosen Option : 3
Q.51 Select the option that expresses the given sentence in passive voice.
They are building a new library in the town square.
Ans ¢ 1. Anew library is being built in the town square by them.
5 2. A new library is building in the town square by them.
#2< 3. A new library in the town square is built by them.
5 4. They are building in the town square a new library.
Question ID : 264330176283
Option 1 ID : 264330691404
Option 2 ID : 264330691405
Option 3 ID : 264330691403
Option 4 ID : 264330691406
Status : Answered
Chosen Option : 1
Q.52 Select the most appropriate synonym of the given word.
Rational
Ans X 1. Anxious
5 2. Delayed
o 3. Logical
25 4. Enormous
Question ID : 264330172714
Option 1 ID : 264330677407
Option 2 ID : 264330677408
Option 3 ID : 264330677410
Option 4 ID : 264330677409
Status : Answered
Chosen Option : 3
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Q.53 Select the most appropriate ANTONYM of the given word.

Compliment
Ans X 1. Neutral

5 2. Complement

Chosen Option :

«” 3. Insult

#< 4. Natural
Question ID : 264330178338
Option 1 ID : 264330699408
Option 2 ID : 264330699407
Option 3 ID : 264330699410
Option 4 ID : 264330699409

Status : Answered
Chosen Option : 3
Q.54 Select the option that correctly rectifies the underlined spelling error.
The university has released a new academic calandar.
Ans 7 1.calendar

25 2. calender

£5 3. calondar

< 4. calandur
Question ID : 264330181046
Option 1 1D : 264330710131
Option 2 ID : 264330710134
Option 3 ID : 264330710132
Option 4 ID : 264330710133

Status : Answered

1

Q.55 Select the option that expresses the given sentence in passive voice.
Afsal is playing the piano.

Ans ¢ 1. The piano is being played by Afsal.
< 2. The piano was plays by Afsal.
#5 3. The piano was being played by Afsal.
#< 4. The piano was play by Afsal.

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

264330178776
264330701132
264330701134
264330701131
264330701133
Answered

1
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Q.56 Select the most appropriate ANTONYM of the underlined word.

The verdict proved that he was innocent.
Ans X 1. Mighty

25 2. Nasty
«” 3. Guilty
< 4. Hearty
Question ID : 264330171611
Option 1 ID : 264330673059
Option 2 ID : 264330673062
Option 3 ID : 264330673060
Option 4 ID : 264330673061
Status : Answered
Chosen Option : 3
Q.57 Select the option that correctly rectifies the underlined spelling error.
Electronics and Information Technology is one of the fastest growing secments in the
Indian industry.
Ans ¢ 1. segments
< 2. cigments
25 3. segmends
< 4. sigmends
Question ID : 264330178830
Option 1 ID : 264330701347
Option 2 ID : 264330701348
Option 3 ID : 264330701349
Option 4 ID : 264330701350
Status : Answered
Chosen Option : 1
Q.58 Select the most appropriate synonym of the given word.
Captivate
Ans X 1. Offend
#5< 2. Unattractive
5 3. Annoy
«” 4. Fascinate
Question ID : 264330175185
Option 1 ID : 264330687108
Option 2 ID : 264330687109
Option 3 ID : 264330687110
Option 4 ID : 264330687107
Status : Answered
Chosen Option : 4
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Q.59 Select the option that expresses the given sentence in active voice.
Today, my project was completed successfully.

Ans X 1.Today, | can complete my project successfully.
«” 2. Today, | completed my project successfully.
< 3. Today, | will be completing my project successfully.

£5 4. Today, my project will have been completed successfully.

Chosen Option :

Question ID : 264330180150
Option 1 ID : 264330706578
Option 2 ID : 264330706575
Option 3 ID : 264330706576
Option 4 ID : 264330706577
Status : Answered
Chosen Option : 2
Q.60 Select the most appropriate synonym of the given word.
Cascade
Ans X 1.Betrayal
5 2. Calamity
«” 3. Waterfall
5 4. Sprinkle
Question ID : 264330178136
Option 1 ID : 264330698609
Option 2 ID : 264330698608
Option 3 ID : 264330698607
Option 4 ID : 264330698610
Status : Marked For Review

4

Q.61 Select the most appropriate ANTONYM of the given word.

Prevent
Ans X 1. Embowel

< 2. Bestow
«” 3. Allow
< 4. Disavow

Question ID

Option 2 ID
Option 3D :
Option 4 ID :
Status :

Chosen Option :

1264330171608
Option 11D :

264330673050

1 264330673047

264330673049
264330673048
Marked For Review
4
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Q.62 Select the most appropriate synonym of the given word.
Merge

Ans 7 1. Unite
5 2. Respect
#< 3. Shake

25 4. Open

Question ID :
1 264330677400
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

Option 1 ID

264330172712

264330677402
264330677401
264330677399
Answered

1

Q.63 Select the most appropriate synonym of the underlined word in the following
sentence.

Shakti is very energetic and does not tire easily.

Ans X 1. Healthy
< 2. Eager
” 3. Lively
< 4. Bright
Question ID : 264330172191
Option 1 ID : 264330675339
Option 2 ID : 264330675342
Option 3 ID : 264330675341
Option 4 ID : 264330675340
Status : Answered
Chosen Option : 3
Q.64 Select the most appropriate idiom that can substitute the underlined segment in the
given sentence.
Economist are having different opinions on the policy of rationing.
Ans X 1.break aleg
” 2. at sixes and sevens
< 3. at fire and fury
X 4. free and easy
Question ID : 264330180780
Option 1 ID : 264330709087
Option 2 ID : 264330709088
Option 3 ID : 264330709089
Option 4 ID : 264330709090
Status : Answered
Chosen Option : 2
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Q.65 Select the most appropriate homophone to fill in the blank.
The student had to the bad habit of procrastination.

Ans 7 1. break
5 2. brisk
< 3. brick
25 4. brake

Question ID :

Option 1 ID

264330178213

1 264330698908
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

264330698909
264330698910
264330698907
Marked For Review
4

Q.66 Select the most appropriate synonym for the underlined word.
Impotent people find fault with others.

Ans X 1. Powerful

o 2. Weak

< 3.Kind

5 4. Cruel
Question ID : 264330176379
Option 1 ID : 264330691784
Option 2 ID : 264330691785
Option 3 ID : 264330691786
Option 4 ID : 264330691783

Status : Answered
Chosen Option : 2
Q.67 Select the option that expresses the given sentence in passive voice.
They had built a new bridge across the river.
Ans X 1. Anew bridge has built across the river by them.

«” 2. A new bridge had been built across the river by them.

< 3. A new bridge has been built across the river by them.

£ 4. A new bridge is built across the river by them.
Question ID : 264330175229
Option 1 ID : 264330687273
Option 2 ID : 264330687271
Option 3 ID : 264330687274
Option 4 ID : 264330687272

Status : Answered
Chosen Option : 3
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Q.68 Read the sentence carefully and select the synonym of the underlined word from the
given options.
| showed my lack of interest in the conversation by giving a laconic reply to everyone.

Ans 7 1. Concise

5 2. Clever
5 3. Harmless
5 4. Informative

Question ID : 264330172722
Option 1 ID : 264330677442
Option 2 ID : 264330677440
Option 3 ID : 264330677439
Option 4 ID : 264330677441
Status : Answered
Chosen Option : 1

Q.69 Select the option that expresses the given sentence in indirect speech.
“We have been waiting for hours”, complained the passengers.

Ans X 1. The passengers complained that they were waiting for hours.
5 2. The passengers complained that they have been waiting for hours
25 3. The passengers complained that we have been waiting for hours.

«” 4. The passengers complained that they had been waiting for hours.

Question ID : 264330172256
Option 1 ID : 264330675590
Option 2 ID : 264330675588
Option 3 ID : 264330675589
Option 4 ID : 264330675587
Status : Answered
Chosen Option : 4

Q.70 Select the most appropriate homophone to fill in the blank.

In this age of cut-throat competition, students are susceptible to pressure.
Ans X 1.pear
X 2. peir
5 3. pair
o« 4. peer
Question ID : 264330174615
Option 1 ID : 264330684875
Option 2 ID : 264330684878
Option 3 ID : 264330684877
Option 4 ID : 264330684876
Status : Answered
Chosen Option : 4
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Q.71 Select the most appropriate synonym of the given word.
Accessible

Ans X 1.Obscure
«” 2. Reachable

< 3. Tremendous

£5 4. Drastic
Question ID : 264330174382
Option 1 ID : 264330683947
Option 2 ID : 264330683948
Option 3 ID : 264330683949
Option 4 ID : 264330683950
Status : Answered
Chosen Option : 2
Q.72 Select the INCORRECTLY spelt word.
Ans X 1. Ensue
< 2. Leverage
o 3. Oscilate
< 4. Bonfire
Question ID : 264330120760
Option 1 ID : 264330473258
Option 2 ID : 264330473257
Option 3 ID : 264330473256
Option 4 ID : 264330473255
Status : Answered
Chosen Option : 3
Q.73 Select the option that expresses the given sentence in passive voice.
Do they teach English in this school?
Ans X 1.lIs English being taught in this school?
< 2. Are they teaching English in this school?
«” 3. Is English taught in this school?
#< 4. Was English taught in this school by them?
Question ID : 264330178439
Option 1 ID : 264330699799
Option 2 ID : 264330699800
Option 3 ID : 264330699801
Option 4 ID : 264330699802
Status : Answered
Chosen Option : 3
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Q.74 The most appropriate synonym for the word ‘anxious' is

Ans X 1. elated

#< 2. unconcerned

5 3. serene
«” 4. worried
Question ID : 264330176439
Option 1 ID : 264330692025
Option 2 ID : 264330692024
Option 3 ID : 264330692026
Option 4 ID : 264330692023
Status : Answered
Chosen Option : 4
Q.75 Select the most appropriate synonym of the given word.
Ghastly
Ans 7 1. Frightful
X 2. Pleasant
X 3. Witty
< 4. Cordial
Question ID : 264330175685
Option 1 ID : 264330689048
Option 2 ID : 264330689050
Option 3 ID : 264330689049
Option 4 ID : 264330689047
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
There has been an increase in the number of animal 1) that have either become
extinct or near extinction. Bengal tiger, 2) , which once roamed the jungle in vast
numbers, is down to only around 2300 in the wild and by the year 2025, their population is
3) to be down to zero. What is alarming about the case of the Bengal tiger is that this
4) will have been caused almost entirely by poachers who, according to some
sources, are not interested in material gain 5) in personal gratification.
SubQuestion No : 76
Q.76 Select the most appropriate option to fill in blank no. 1.
Ans X 1.indigenousness
& 2. aliens
X 3. fossils
o« 4. species
Question ID : 264330175214
Option 1 ID : 264330687214
Option 2 ID : 264330687212
Option 3 ID : 264330687211
Option 4 ID : 264330687213
Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

There has been an increase in the number of animal 1) that have either become
extinct or near extinction. Bengal tiger, 2) , which once roamed the jungle in vast
numbers, is down to only around 2300 in the wild and by the year 2025, their population is
3) to be down to zero. What is alarming about the case of the Bengal tiger is that this
4) will have been caused almost entirely by poachers who, according to some
sources, are not interested in material gain 5) in personal gratification.
SubQuestion No : 77

Q.77 Select the most appropriate option to fill in blank no. 2.

Ans X 1.similarly
o 2. for instance
& 3.indeed
X 4. yet

Question ID : 264330175215
Option 11D : 264330687215
Option 2 ID : 264330687218
Option 3 ID : 264330687217
Option 4 ID : 264330687216
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

There has been an increase in the number of animal 1) that have either become
extinct or near extinction. Bengal tiger, 2) , which once roamed the jungle in vast
numbers, is down to only around 2300 in the wild and by the year 2025, their population is
3) to be down to zero. What is alarming about the case of the Bengal tiger is that this
4) will have been caused almost entirely by poachers who, according to some
sources, are not interested in material gain 5) in personal gratification.
SubQuestion No : 78

Q.78 Select the most appropriate option to fill in blank 3.

Ans X 1.has estimated
& 2. estimate
#< 3. estimates
o« 4. estimated

Question ID : 264330175216
Option 1 ID : 264330687222
Option 2 ID : 264330687221
Option 3 ID : 264330687220
Option 4 ID : 264330687219
Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

There has been an increase in the number of animal 1) that have either become
extinct or near extinction. Bengal tiger, 2) , which once roamed the jungle in vast
numbers, is down to only around 2300 in the wild and by the year 2025, their population is
3) to be down to zero. What is alarming about the case of the Bengal tiger is that this
4) will have been caused almost entirely by poachers who, according to some
sources, are not interested in material gain 5) in personal gratification.
SubQuestion No : 79

Q.79 Select the most appropriate option to fill in blank no. 4.

Ans 7 1. extinction
#< 2. extinct
2 3. extinguish

#< 4. extension

Question ID : 264330175217
Option 1 ID : 264330687224
Option 2 ID : 264330687223
Option 3 ID : 264330687225
Option 4 ID : 264330687226
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

There has been an increase in the number of animal 1) that have either become
extinct or near extinction. Bengal tiger, 2) , which once roamed the jungle in vast
numbers, is down to only around 2300 in the wild and by the year 2025, their population is
3) to be down to zero. What is alarming about the case of the Bengal tiger is that this
4) will have been caused almost entirely by poachers who, according to some
sources, are not interested in material gain 5) in personal gratification.
SubQuestion No : 80

Q.80 Select the most appropriate option to fill in blank no. 5.

Ans 7 1. but
& 2. since
X 3. thus
& 4. which

Question ID : 264330175218
Option 1 ID : 264330687229
Option 2 ID : 264330687228
Option 3 ID : 264330687227
Option 4 ID : 264330687230
Status : Answered
Chosen Option : 1
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Can we see (1) the earth is a globe? Yes, we can, when we watch a ship that sails
out to sea. If we watch closely, we see that the ship begins (2) . The bottom of the
ship disappears first, and then the ship seems to sink lower and lower, (3) we can
only see the top of the ship, and then we see nothing at all. What is hiding the ship from us? It
is the earth. Stick a pin most of the way into an orange, and (4) turn the orange
away from you. You will see the pin disappear, (5) a ship does on the earth.
SubQuestion No : 81

Q.81 Select the most appropriate option to fill in blank number 1.

Ans 7 1. that
< 2. where
X 3.if
< 4. whether

Question ID : 264330181583
Option 11D : 264330712229
Option 2 ID : 264330712228
Option 3 ID : 264330712227
Option 4 ID : 264330712230
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Can we see (1) the earth is a globe? Yes, we can, when we watch a ship that sails
out to sea. If we watch closely, we see that the ship begins (2) . The bottom of the
ship disappears first, and then the ship seems to sink lower and lower, (3) we can
only see the top of the ship, and then we see nothing at all. What is hiding the ship from us? It
is the earth. Stick a pin most of the way into an orange, and (4) turn the orange
away from you. You will see the pin disappear, (5) a ship does on the earth.
SubQuestion No : 82

Q.82 Select the most appropriate option to fill in blank number 2.

Ans X 1.to be disappeared
& 2. to have disappeared
X 3. being disappeared
«” 4. to disappear

Question ID : 264330181584
Option 1 ID : 264330712232
Option 2 ID : 264330712233
Option 3 ID : 264330712231
Option 4 ID : 264330712234
Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Can we see (1) the earth is a globe? Yes, we can, when we watch a ship that sails
out to sea. If we watch closely, we see that the ship begins (2) . The bottom of the
ship disappears first, and then the ship seems to sink lower and lower, (3) we can
only see the top of the ship, and then we see nothing at all. What is hiding the ship from us? It
is the earth. Stick a pin most of the way into an orange, and (4) turn the orange
away from you. You will see the pin disappear, (5) a ship does on the earth.
SubQuestion No : 83

Q.83 Select the most appropriate option to fill in blank number 3.

Ans X 1.by the time
< 2.since
& 3. after
4. until

Question ID : 264330181585
Option 11D : 264330712238
Option 2 ID : 264330712236
Option 3 ID : 264330712237
Option 4 ID : 264330712235
Status : Marked For Review
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Can we see (1) the earth is a globe? Yes, we can, when we watch a ship that sails
out to sea. If we watch closely, we see that the ship begins (2) . The bottom of the
ship disappears first, and then the ship seems to sink lower and lower, (3) we can
only see the top of the ship, and then we see nothing at all. What is hiding the ship from us? It
is the earth. Stick a pin most of the way into an orange, and (4) turn the orange
away from you. You will see the pin disappear, (5) a ship does on the earth.
SubQuestion No : 84

Q.84 Select the most appropriate option to fill in blank number 4.

Ans X 1.passionately
& 2. accidentally
< 3. reluctantly

o« 4. slowly

Question ID : 264330181586
Option 1 ID : 264330712242
Option 2 ID : 264330712240
Option 3 ID : 264330712239
Option 4 ID : 264330712241
Status : Answered
Chosen Option : 4
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Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Can we see (1) the earth is a globe? Yes, we can, when we watch a ship that sails
out to sea. If we watch closely, we see that the ship begins (2) . The bottom of the
ship disappears first, and then the ship seems to sink lower and lower, (3) we can
only see the top of the ship, and then we see nothing at all. What is hiding the ship from us? It
is the earth. Stick a pin most of the way into an orange, and (4) turn the orange
away from you. You will see the pin disappear, (5) a ship does on the earth.
SubQuestion No : 85

Q.85 Select the most appropriate option to fill in blank number 5.

Ans X 1. Dby the way
& 2. the same
X 3. alike

o« 4.justas

Question ID : 264330181587
Option 1 ID : 264330712246
Option 2 ID : 264330712243
Option 3 ID : 264330712244
Option 4 ID : 264330712245
Status : Marked For Review
Chosen Option : 2

Comprehension:
Read the given passage and answer the question that follows.

Electric Vehicles (EVs) first appeared in the late 1800s when electricity was a popular choice
for driving motor vehicles. This method offered a comfort and ease of operation that gasoline
cars of that era couldn't match. Despite internal combustion engines becoming the standard
for cars and trucks for roughly a century, electricity continued to power other types of vehicles
like trains and small vehicles. The environmental implications of petroleum-based transport
and the concern over depleting oil reserves reignited interest in electric transportation
infrastructure in the late 20t and early 215t centuries. EVs stand apart from vehicles powered
by fossil fuels, in that they can run on electricity produced from various sources, including
fossil fuels, nuclear power and renewables like solar and wind, or a mix of these.
Consequently, the carbon footprint and emissions of EVs differ based on the source and
technology used for electricity generation. The generated electricity can be stored in the
vehicle through a battery, a flywheel or supercapacitors. In contrast, vehicles with internal
combustion engines generally rely on a single or few sources, typically non-renewable fossil
fuels. A significant advantage of EVs is regenerative braking, a feature that recuperates
kinetic energy usually lost as heat during friction braking and converts it back into electricity to
recharge the onboard battery.

SubQuestion No : 86

Q.86 Based on the information provided in the passage, which of the following is NOT a
benefit of advanced electric vehicles over vehicles with an internal combustion
engine?

Ans X 1.Regenerative braking
X 2. Potential for lower emissions
«” 3. Discomfort and complexity of operations

& 4. Versatility of fuel sources

Question ID : 264330179458
Option 1 ID : 264330703834
Option 2 ID : 264330703832
Option 3 ID : 264330703833
Option 4 ID : 264330703831
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the question that follows.

Electric Vehicles (EVs) first appeared in the late 1800s when electricity was a popular choice
for driving motor vehicles. This method offered a comfort and ease of operation that gasoline
cars of that era couldn't match. Despite internal combustion engines becoming the standard
for cars and trucks for roughly a century, electricity continued to power other types of vehicles
like trains and small vehicles. The environmental implications of petroleum-based transport
and the concern over depleting oil reserves reignited interest in electric transportation
infrastructure in the late 20" and early 218t centuries. EVs stand apart from vehicles powered
by fossil fuels, in that they can run on electricity produced from various sources, including
fossil fuels, nuclear power and renewables like solar and wind, or a mix of these.
Consequently, the carbon footprint and emissions of EVs differ based on the source and
technology used for electricity generation. The generated electricity can be stored in the
vehicle through a battery, a flywheel or supercapacitors. In contrast, vehicles with internal
combustion engines generally rely on a single or few sources, typically non-renewable fossil
fuels. A significant advantage of EVs is regenerative braking, a feature that recuperates
kinetic energy usually lost as heat during friction braking and converts it back into electricity to
recharge the onboard battery.

SubQuestion No : 87
Q.87 What is one key advantage of EVs over vehicles with internal combustion engines?
Ans X 1.They are easier to drive.

5 2. They require less maintenance.
«” 3. They can be powered by a wide range of energy sources.

& 4. They are always faster.

Question ID : 264330179455
Option 1 ID : 264330703821
Option 2 ID : 264330703822
Option 3 ID : 264330703820
Option 4 ID : 264330703819
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the question that follows.

Electric Vehicles (EVs) first appeared in the late 1800s when electricity was a popular choice
for driving motor vehicles. This method offered a comfort and ease of operation that gasoline
cars of that era couldn't match. Despite internal combustion engines becoming the standard
for cars and trucks for roughly a century, electricity continued to power other types of vehicles
like trains and small vehicles. The environmental implications of petroleum-based transport
and the concern over depleting oil reserves reignited interest in electric transportation
infrastructure in the late 20" and early 218t centuries. EVs stand apart from vehicles powered
by fossil fuels, in that they can run on electricity produced from various sources, including
fossil fuels, nuclear power and renewables like solar and wind, or a mix of these.
Consequently, the carbon footprint and emissions of EVs differ based on the source and
technology used for electricity generation. The generated electricity can be stored in the
vehicle through a battery, a flywheel or supercapacitors. In contrast, vehicles with internal
combustion engines generally rely on a single or few sources, typically non-renewable fossil
fuels. A significant advantage of EVs is regenerative braking, a feature that recuperates
kinetic energy usually lost as heat during friction braking and converts it back into electricity to
recharge the onboard battery.

SubQuestion No : 88
Q.88 How does regenerative braking in electric vehicles work?
Ans X 1. It uses kinetic energy to slow down the vehicle without engaging the brakes.
«” 2. It recovers kinetic energy lost as heat during friction braking and converts it back into
electricity.

< 3. It charges the battery when the vehicle is parked.

& 4. It reduces the vehicle's speed without using any energy.

Question ID : 264330179457
Option 1 ID : 264330703829
Option 2 ID : 264330703830
Option 3 ID : 264330703828
Option 4 ID : 264330703827
Status : Answered
Chosen Option : 2

Downloaded From www.exammix.com



Visit - www.exammix.com & Download All Shift CBT Question Papersin Hindi and English

Comprehension:
Read the given passage and answer the question that follows.

Electric Vehicles (EVs) first appeared in the late 1800s when electricity was a popular choice
for driving motor vehicles. This method offered a comfort and ease of operation that gasoline
cars of that era couldn't match. Despite internal combustion engines becoming the standard
for cars and trucks for roughly a century, electricity continued to power other types of vehicles
like trains and small vehicles. The environmental implications of petroleum-based transport
and the concern over depleting oil reserves reignited interest in electric transportation
infrastructure in the late 20" and early 218t centuries. EVs stand apart from vehicles powered
by fossil fuels, in that they can run on electricity produced from various sources, including
fossil fuels, nuclear power and renewables like solar and wind, or a mix of these.
Consequently, the carbon footprint and emissions of EVs differ based on the source and
technology used for electricity generation. The generated electricity can be stored in the
vehicle through a battery, a flywheel or supercapacitors. In contrast, vehicles with internal
combustion engines generally rely on a single or few sources, typically non-renewable fossil
fuels. A significant advantage of EVs is regenerative braking, a feature that recuperates
kinetic energy usually lost as heat during friction braking and converts it back into electricity to
recharge the onboard battery.

SubQuestion No : 89
Q.89 When did Electric Vehicles (EVs) first appear?

Ans 1 Late 19" century
< 2. Early 18t century
X 3. Late 18t century
7 4. Early 19t century

Question ID : 264330179454
Option 1 ID : 264330703818
Option 2 ID : 264330703815
Option 3 ID : 264330703816
Option 4 ID : 264330703817
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the question that follows.

Electric Vehicles (EVs) first appeared in the late 1800s when electricity was a popular choice
for driving motor vehicles. This method offered a comfort and ease of operation that gasoline
cars of that era couldn't match. Despite internal combustion engines becoming the standard
for cars and trucks for roughly a century, electricity continued to power other types of vehicles
like trains and small vehicles. The environmental implications of petroleum-based transport
and the concern over depleting oil reserves reignited interest in electric transportation
infrastructure in the late 20" and early 218t centuries. EVs stand apart from vehicles powered
by fossil fuels, in that they can run on electricity produced from various sources, including
fossil fuels, nuclear power and renewables like solar and wind, or a mix of these.
Consequently, the carbon footprint and emissions of EVs differ based on the source and
technology used for electricity generation. The generated electricity can be stored in the
vehicle through a battery, a flywheel or supercapacitors. In contrast, vehicles with internal
combustion engines generally rely on a single or few sources, typically non-renewable fossil
fuels. A significant advantage of EVs is regenerative braking, a feature that recuperates
kinetic energy usually lost as heat during friction braking and converts it back into electricity to
recharge the onboard battery.

SubQuestion No : 90

Q.90 According to the passage, what can be stored in electric vehicles using a battery, a
flywheel or supercapacitors?

Ans X 1.Diesel
X 2. Gasoline
o 3. Electricity
X 4. Petroleum

Question ID : 264330179456
Option 1 ID : 264330703826
Option 2 ID : 264330703824
Option 3 ID : 264330703825
Option 4 ID : 264330703823
Status : Answered
Chosen Option : 3
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Comprehension:

Read the given passage and answer the question that follows.

Food security was defined by The World Food Summit of 1996 as existing when “all people,
at all times, have physical, social and economic access to sufficient, safe and nutritious food
to meet dietary needs for a productive and healthy life.” Since 1948, food security has been
considered a basic human right. In 2011, as much as 16% of the population of the earth was
still going hungry. The earth’s population is expected to grow from approximately 7 billion
today to 8.3 billion in 2030, and to 9.1 billion in 2050. This translates to increase in food
demand of 50% and 70%, respectively. While the agricultural industry is technically capable of
producing 70% more food in 40 years, there is no guarantee that 70% more food will be
available for people to eat.

A large part of the issue is the availability of water, which is critical to food security. Both,
crops and livestock require it, and agriculture also requires large quantities of water for both
irrigation and some production processes. In fact, agricultural systems use more water than
any other activity on the globe. As much as 70% of all freshwater used by humans is used in
agricultural irrigation. Access to adequate food in many developing countries also depends on
the availability of water.

SubQuestion No : 91

Q.91 Select the most appropriate synonym of the given word taken from the passage.
Access

Ans X 1.Plenty
«” 2. Entry
X 3. Attack
/5 4. Achievement

Question ID : 264330182833
Option 1 ID : 264330717101
Option 2 ID : 264330717100
Option 3 ID : 264330717099
Option 4 ID : 264330717102
Status : Marked For Review
Chosen Option : 4
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Comprehension:

Read the given passage and answer the question that follows.

Food security was defined by The World Food Summit of 1996 as existing when “all people,
at all times, have physical, social and economic access to sufficient, safe and nutritious food
to meet dietary needs for a productive and healthy life.” Since 1948, food security has been
considered a basic human right. In 2011, as much as 16% of the population of the earth was
still going hungry. The earth’s population is expected to grow from approximately 7 billion
today to 8.3 billion in 2030, and to 9.1 billion in 2050. This translates to increase in food
demand of 50% and 70%, respectively. While the agricultural industry is technically capable of
producing 70% more food in 40 years, there is no guarantee that 70% more food will be
available for people to eat.

A large part of the issue is the availability of water, which is critical to food security. Both,
crops and livestock require it, and agriculture also requires large quantities of water for both
irrigation and some production processes. In fact, agricultural systems use more water than
any other activity on the globe. As much as 70% of all freshwater used by humans is used in
agricultural irrigation. Access to adequate food in many developing countries also depends on
the availability of water.

SubQuestion No : 92
Q.92 Identify the central theme of the passage.
Ans X 1. Steps to achieve food security

«” 2. Challenges of food security
% 3. Loopholes of food security

< 4. Importance of food security

Question ID : 264330182831
Option 1 ID : 264330717094
Option 2 ID : 264330717093
Option 3 ID : 264330717092
Option 4 ID : 264330717091
Status : Answered
Chosen Option : 2
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Comprehension:

Read the given passage and answer the question that follows.

Food security was defined by The World Food Summit of 1996 as existing when “all people,
at all times, have physical, social and economic access to sufficient, safe and nutritious food
to meet dietary needs for a productive and healthy life.” Since 1948, food security has been
considered a basic human right. In 2011, as much as 16% of the population of the earth was
still going hungry. The earth’s population is expected to grow from approximately 7 billion
today to 8.3 billion in 2030, and to 9.1 billion in 2050. This translates to increase in food
demand of 50% and 70%, respectively. While the agricultural industry is technically capable of
producing 70% more food in 40 years, there is no guarantee that 70% more food will be
available for people to eat.

A large part of the issue is the availability of water, which is critical to food security. Both,
crops and livestock require it, and agriculture also requires large quantities of water for both
irrigation and some production processes. In fact, agricultural systems use more water than
any other activity on the globe. As much as 70% of all freshwater used by humans is used in
agricultural irrigation. Access to adequate food in many developing countries also depends on
the availability of water.

SubQuestion No : 93
Q.93 Choose an appropriate title for the passage.
Ans « 1. The Challenges of Food Security

X 2.Food and Life
% 3. Food Corporation of India
< 4. World Food Summit

Question ID : 264330182830
Option 1 ID : 264330717088
Option 2 ID : 264330717090
Option 3 ID : 264330717087
Option 4 ID : 264330717089
Status : Answered
Chosen Option : 1
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Comprehension:

Read the given passage and answer the question that follows.

Food security was defined by The World Food Summit of 1996 as existing when “all people,
at all times, have physical, social and economic access to sufficient, safe and nutritious food
to meet dietary needs for a productive and healthy life.” Since 1948, food security has been
considered a basic human right. In 2011, as much as 16% of the population of the earth was
still going hungry. The earth’s population is expected to grow from approximately 7 billion
today to 8.3 billion in 2030, and to 9.1 billion in 2050. This translates to increase in food
demand of 50% and 70%, respectively. While the agricultural industry is technically capable of
producing 70% more food in 40 years, there is no guarantee that 70% more food will be
available for people to eat.

A large part of the issue is the availability of water, which is critical to food security. Both,
crops and livestock require it, and agriculture also requires large quantities of water for both
irrigation and some production processes. In fact, agricultural systems use more water than
any other activity on the globe. As much as 70% of all freshwater used by humans is used in
agricultural irrigation. Access to adequate food in many developing countries also depends on
the availability of water.

SubQuestion No : 94

Q.94 Select the most appropriate ANTONYM of the given word taken from the passage.
Critical

Ans X 1.Crucial
& 2. Gentle
2 3. Harmless

«” 4. Inconsequential

Question ID : 264330182834
Option 1 ID : 264330717103
Option 2 ID : 264330717105
Option 3 ID : 264330717106
Option 4 ID : 264330717104
Status : Marked For Review
Chosen Option : 4
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Comprehension:

Read the given passage and answer the question that follows.

Food security was defined by The World Food Summit of 1996 as existing when “all people,
at all times, have physical, social and economic access to sufficient, safe and nutritious food
to meet dietary needs for a productive and healthy life.” Since 1948, food security has been
considered a basic human right. In 2011, as much as 16% of the population of the earth was
still going hungry. The earth’s population is expected to grow from approximately 7 billion
today to 8.3 billion in 2030, and to 9.1 billion in 2050. This translates to increase in food
demand of 50% and 70%, respectively. While the agricultural industry is technically capable of
producing 70% more food in 40 years, there is no guarantee that 70% more food will be
available for people to eat.

A large part of the issue is the availability of water, which is critical to food security. Both,
crops and livestock require it, and agriculture also requires large quantities of water for both
irrigation and some production processes. In fact, agricultural systems use more water than
any other activity on the globe. As much as 70% of all freshwater used by humans is used in
agricultural irrigation. Access to adequate food in many developing countries also depends on
the availability of water.

SubQuestion No : 95
Q.95 Which of the following is the most critical factor of food security?
Ans ¢ 1. Availability of water

5 2. Farmer’s debt round the year
< 3. Availability of good fertilisers

& 4. Availability of cold storages

Question ID : 264330182832
Option 1 ID : 264330717097
Option 2 ID : 264330717098
Option 3 ID : 264330717096
Option 4 ID : 264330717095
Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the question that follows.

Humpback whales are seasonal migrants found in all of the world's oceans. In the North
Pacific, humpback whales winter in tropical regions over the shallow coastal shelfs associated
with the Hawaiian Islands, Baja California, central Mexico, the Ryukyu Islands, Bonin Islands
and Mariana Islands. They summer in cold temperate regions, also over shallow coastal
shelfs, from Point Conception, California, north through Alaska, west through the Aleutians,
and south to Honshu Island, Japan. Calving and probably breeding occur on the wintering
grounds. Feeding is believed to occur primarily in the summering grounds.

In Alaska, humpback whales are known to inhabit Prince William Sound, the waters of the
Alexander Archipelago and the waters adjacent to Kodiak Island and the Aleutians. Some
whales may also overwinter in the northern summering areas.

The distribution, movements, abundance and habitat requirements of humpback whales are
not well known. Based upon Japanese catch statistics, the pre-exploitation population of
humpback whales in the North Pacific is estimated to have been approximately 15,000. Much
of the exploitation of humpback whales occurred in the 20th century, especially during the
early 1960's.

A small number of whaling stations established in southeast Alaska took humpbacks between
1907 and 1922. In 1966, the International Whaling Commission imposed a worldwide ban on
the taking of humpback whales.

SubQuestion No : 96
Q.96 Choose an appropriate title for the passage.
Ans & 1. Humpback Whales

% 2. Wintering and Summering of Humpback Whales
#< 3. Underwater Life
X 4. Whales

Question ID : 264330182397
Option 1 ID : 264330715405
Option 2 ID : 264330715406
Option 3 ID : 264330715404
Option 4 ID : 264330715403
Status : Marked For Review
Chosen Option : 1
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Comprehension:
Read the given passage and answer the question that follows.

Humpback whales are seasonal migrants found in all of the world's oceans. In the North
Pacific, humpback whales winter in tropical regions over the shallow coastal shelfs associated
with the Hawaiian Islands, Baja California, central Mexico, the Ryukyu Islands, Bonin Islands
and Mariana Islands. They summer in cold temperate regions, also over shallow coastal
shelfs, from Point Conception, California, north through Alaska, west through the Aleutians,
and south to Honshu Island, Japan. Calving and probably breeding occur on the wintering
grounds. Feeding is believed to occur primarily in the summering grounds.

In Alaska, humpback whales are known to inhabit Prince William Sound, the waters of the
Alexander Archipelago and the waters adjacent to Kodiak Island and the Aleutians. Some
whales may also overwinter in the northern summering areas.

The distribution, movements, abundance and habitat requirements of humpback whales are
not well known. Based upon Japanese catch statistics, the pre-exploitation population of
humpback whales in the North Pacific is estimated to have been approximately 15,000. Much
of the exploitation of humpback whales occurred in the 20th century, especially during the
early 1960's.

A small number of whaling stations established in southeast Alaska took humpbacks between
1907 and 1922. In 1966, the International Whaling Commission imposed a worldwide ban on
the taking of humpback whales.

SubQuestion No : 97

Q.97 Identify the meaning of the underlined word in the following sentence from the
passage.

In Alaska, humpback whales are known to inhabit Prince William Sound.

Ans ¢ 1.Tolivein a place
X 2. Have the habit of
#< 3. Surround
4. Depopulate

Question ID : 264330182400
Option 1 ID : 264330715416
Option 2 ID : 264330715415
Option 3 ID : 264330715417
Option 4 ID : 264330715418
Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the question that follows.

Humpback whales are seasonal migrants found in all of the world's oceans. In the North
Pacific, humpback whales winter in tropical regions over the shallow coastal shelfs associated
with the Hawaiian Islands, Baja California, central Mexico, the Ryukyu Islands, Bonin Islands
and Mariana Islands. They summer in cold temperate regions, also over shallow coastal
shelfs, from Point Conception, California, north through Alaska, west through the Aleutians,
and south to Honshu Island, Japan. Calving and probably breeding occur on the wintering
grounds. Feeding is believed to occur primarily in the summering grounds.

In Alaska, humpback whales are known to inhabit Prince William Sound, the waters of the
Alexander Archipelago and the waters adjacent to Kodiak Island and the Aleutians. Some
whales may also overwinter in the northern summering areas.

The distribution, movements, abundance and habitat requirements of humpback whales are
not well known. Based upon Japanese catch statistics, the pre-exploitation population of
humpback whales in the North Pacific is estimated to have been approximately 15,000. Much
of the exploitation of humpback whales occurred in the 20th century, especially during the
early 1960's.

A small number of whaling stations established in southeast Alaska took humpbacks between
1907 and 1922. In 1966, the International Whaling Commission imposed a worldwide ban on
the taking of humpback whales.

SubQuestion No : 98
Q.98 Identify the most appropriate ANTONYM of the given word taken from the passage.

Seasonal
Ans X 1.Intermittent

& 2. Climatic
X 3. Periodic
«” 4. Perpetual

Question ID : 264330182401
Option 1 ID : 264330715422
Option 2 ID : 264330715421
Option 3 ID : 264330715420
Option 4 ID : 264330715419
Status : Marked For Review
Chosen Option : 3
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Comprehension:
Read the given passage and answer the question that follows.

Humpback whales are seasonal migrants found in all of the world's oceans. In the North
Pacific, humpback whales winter in tropical regions over the shallow coastal shelfs associated
with the Hawaiian Islands, Baja California, central Mexico, the Ryukyu Islands, Bonin Islands
and Mariana Islands. They summer in cold temperate regions, also over shallow coastal
shelfs, from Point Conception, California, north through Alaska, west through the Aleutians,
and south to Honshu Island, Japan. Calving and probably breeding occur on the wintering
grounds. Feeding is believed to occur primarily in the summering grounds.

In Alaska, humpback whales are known to inhabit Prince William Sound, the waters of the
Alexander Archipelago and the waters adjacent to Kodiak Island and the Aleutians. Some
whales may also overwinter in the northern summering areas.

The distribution, movements, abundance and habitat requirements of humpback whales are
not well known. Based upon Japanese catch statistics, the pre-exploitation population of
humpback whales in the North Pacific is estimated to have been approximately 15,000. Much
of the exploitation of humpback whales occurred in the 20th century, especially during the
early 1960's.

A small number of whaling stations established in southeast Alaska took humpbacks between
1907 and 1922. In 1966, the International Whaling Commission imposed a worldwide ban on
the taking of humpback whales.

SubQuestion No : 99

Q.99 The humpback whales winter in the coastal shelfs of

Ans «” 1. Hawaiian Islands, Baja California, central Mexico, the Ryukyu Islands, Bonin Islands
and Mariana Islands

/5 2. Point Conception, California, Alaska, the Aleutians, Honshu Island and Japan
5 3. Point Conception, Baja California, California, Alaska, the Aleutians, Honshu Island
and Japan

/5 4. Hawaiian Islands, Baja California, California, Alaska, the Aleutians and Mariana
Islands

Question ID : 264330182398
Option 1 ID : 264330715407
Option 2 ID : 264330715408
Option 3 ID : 264330715410
Option 4 ID : 264330715409
Status : Answered
Chosen Option : 1
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Comprehension:
Read the given passage and answer the question that follows.

Humpback whales are seasonal migrants found in all of the world's oceans. In the North
Pacific, humpback whales winter in tropical regions over the shallow coastal shelfs associated
with the Hawaiian Islands, Baja California, central Mexico, the Ryukyu Islands, Bonin Islands
and Mariana Islands. They summer in cold temperate regions, also over shallow coastal
shelfs, from Point Conception, California, north through Alaska, west through the Aleutians,
and south to Honshu Island, Japan. Calving and probably breeding occur on the wintering
grounds. Feeding is believed to occur primarily in the summering grounds.

In Alaska, humpback whales are known to inhabit Prince William Sound, the waters of the
Alexander Archipelago and the waters adjacent to Kodiak Island and the Aleutians. Some
whales may also overwinter in the northern summering areas.

The distribution, movements, abundance and habitat requirements of humpback whales are
not well known. Based upon Japanese catch statistics, the pre-exploitation population of
humpback whales in the North Pacific is estimated to have been approximately 15,000. Much
of the exploitation of humpback whales occurred in the 20th century, especially during the
early 1960's.

A small number of whaling stations established in southeast Alaska took humpbacks between
1907 and 1922. In 1966, the International Whaling Commission imposed a worldwide ban on
the taking of humpback whales.

SubQuestion No : 100
Q.100 The structure of the passage is in the form of
Ans X 1.compare and contrast

o 2. descriptive
& 3. cause and effect

4. problem and solution

Question ID : 264330182399
Option 1 ID : 264330715414
Option 2 ID : 264330715411
Option 3 ID : 264330715413
Option 4 ID : 264330715412
Status : Answered
Chosen Option : 2
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